B Kawasaki

Powering your potential

NigET e

e —Ag =it B

B4 105-8315 FRREBEBXIBE1TH14-5
EBiE: 03-3435-6862 f{£H: 03-3435-2023 A 3
WPRRE (m — ]

#B4% 650-8680 #MFMHHRRXZA)IIFHT1THL-3 (##FKEE)

EiE: 078-360-8605 f{&H: 078-360-8609

Eﬁgﬁsﬁrzzw HPHAXESEIAAR 23431 AXiaI PiSton MOtorS
for General Industrial Machinery

EBi&: 078-991-1133 {¥H: 078-991-3186

ERELFR
4% 812-0011 ERMESXESuAI1T H4-1 (EButmiFE—EHAEME)
EBiE: 092-432-9561 f{&¥H: 092-432-9566

FREIRES RO

#B%R 272-0015 FHEM)IHRS4THI-2
EBi&: 047-379-8181 f{£H: 047-379-8186

SialRSH
B4R 794-0028 EEESiAamhIt=kE]1TH5-3 (GibraltarEsKE. JIIEEER )
FBiE: 0898-22-2531 f{£¥H:0898-22-2183

ERIIRSS il

BB%% 811-0112 ENEMERFH=I TH2TH10-17
EBiE: 092-963-0452 f{&¥H: 092-963-2755

http://www.khi.co.jp/kpm/

Kawasaki Heavy Industries, Ltd.

Precision Machinery Company
http://www.khi.co.jp/kpm/

Tokyo Head Office
1-14-5 Kaigan, Minato-ku, Tokyo 105-8315, Japan
Phone +81-3-3435-6862 Fax. +81-3-3435-2023

Kobe Head Office

Kobe Crystal Tower, 1-3 Higashikawasaki-cho 1-chome, Chuo-ku, Kobe 650-8680,
Japan

Phone +81-78-360-8607 Fax. +81-78-360-8609

Nishi-kobe Works
234, Matsumoto, Hasetani-cho, Nishi-ku, Kobe 651-2239, Japan
Phone +81-78-991-1160 Fax. +81-78-991-3186

OVERSEAS SUBSIDIARIES

Kawasaki Precision Machinery (UK) Ltd.

Ernesettle Lane, Ernesettle, Plymouth, Devon, PL5 2SA United Kingdom
Phone +44-1752-364394 Fax. +44-1752-364816
http://www.kpm-eu.com

Kawasaki Precision Machinery (U.S.A.), Inc.

3838 Broadmoor Avenue S.E. Grand Rapids, Michigan 49512, US.A.
Phone +1-616-975-3100 Fax. +1-616-975-3103
http://www.kpm-usa.com

NiEEEEA (M ) BRAR
HEITAEAMN SR ENIE668S HifH215151
E3i%: 86-0512-6616-0365 {£E: 86- 0512-6616-0366

NisFEENEER (L) BRAR
HEEETERXARTIE168S HMhSEAR17#1701% 45200001
F3i%: 86-021-3366-3800 f£H: 86-021-3366-3808

NizFEES (L) BRAS
HEHTE L EPEFFARWEAB200 HRE312300
FEi%: 86-0575-8215-6999 {&H: 86-0575-8215-8699

Flutek, Ltd.
192-11, Shinchon-dong, Changwon, Kyungnam, 641-370, Korea
Phone +82-55-210-5900 Fax. +82-55-286-5557

Wipro Kawasaki Precision Machinery Private Limited
No. 15, Sy. No. 35 & 37, Kumbalgodu Industrial Area, Kumbalgodu Village, Kengeri Hobli,
Bangalore, - 560074 ,India

AREAFCHIAS, AT SUABEREMXT . EAIER .
Materials and specifications are subject to change without manufacturer's obligation.
AEREAERNRBER,

This catalog is printed on recycled paper. Cat. No. 0A0000 Jul. '15 O

Printed in Japan




&% A2 = mid

AATMER BIOTEF RSN KBNE
1, MR REEE TEITER, EMEE R B
TR, 2T 5=

FrRBFRHHEN~R BTERZENSHESE §X
FRAZENMHRE FHRERZHIRITESM
I BEREE, RIBFEHITO AR EEIEDH FIET.
FoNFRE R IR 18 R 2 B0 7 fm B AR B MR AT
Wit Z IR B AR PR RO AT 8 MR BT R S RIA R

HEERAT BN, FEFRETEED, UERER
FETUMER.

FEmBEFRICHBRAREE, IR RFFIEFIEEE
HIRRE TRAILE.

E TR THRGMINEERZER, ERENSERF

HITE.

@ HATIC BAI AR LU SO SR R FNER IR,

@ AT EFRE. =, EfT. B Mm% AiEh.

@RFHAFME=ERAZMHAE, FAHEERE
M KA R

FERBEFRNHENERE ARNSEEE BAME. A
KXEHER, BEERTTLLEME.

Vi &2 W

ON APPLICATION / USAGE

OF THE PRODUCTS

Although our products are designed on the basis of our
profound knowledge and long experience, and manu-
factured under the strict quality control system, the fol-
lowing must be taken into consideration in actual use.

The operating conditions of the products shown in
this catalog vary depending upon each application.
Therefore, the decision of the products' suitability to
the system considered must be made by the designer
of the hydraulic system and/or the person in charge of
determining the specification after making analysis
and conducting tests, if necessary. The study of the
specification shall be done based on the latest cata-
log and technical documents, and the system must be
composed taking into account situations regarding
the possibility of machine failure.

Prior to use of the products, descriptions given in the
SAFETY PRECAUTIONS must be observed for the
proper use.

The technical information in this catalog represents
typical characteristics and performance of the prod-
ucts, and is not guaranteed one.

In case the products are used in the following condi-

tions or environments, please consult us prior to the

use.

@ Unspecified conditions or environments

(@ Use for atomic power, aviation, medical treatment,
and/or food

® Use likely to affect human beings or assets signifi-
cantly or requiring particular safety

The information described in this catalog is subject to
change without notice.
For updated information, please consult us.

Vi & N

EH®

I
R BRI - 1
e -4 1 2
ﬁ_}ﬁﬁﬁmm&ggﬁmﬁ;ﬁ .................................... 3
7 8 B Dk
IIBXZETGY -+ v v v vrm e e 5
8 W REEDE
M3B %ﬁu ................................................. 11
HRE A E DX
M3X/M3B-RG 225 - - -+ 23
MEXHEEEDX
KBXZRTY o vovvvvmee oo et o5
id]'f’ﬂiﬁfi ................................................... 27
PEZEBITNEE - v 27
MBBEI D IEZE BRI - v ovvvvveo e e 28
JERERREEIRT v oo v 29
EE% ....................................................... 31
iﬁ”'ﬂﬁﬁ;ﬂﬁ:ﬁ ............................................... 33

GONTENTS

page
ON APPLICATION / USE OF THE PRODUCTS «++++++sseeeeeeeess 1
SAFETY PRECAUT'ONS .......................................... 2

WIDE VARIETY OF OUR SWASH-PLATE TYPE AXIAL PISTON MOTOR -« - - - - 3
Fixed-Displacement Type Axial Piston Motor

IIBX SERIES + v v verererenneennneeetnaetta et aenaeeineeenn. 5
Variable-Displacement Type Axial Piston Motor

M3B SER'ES .................................................... 11
Axial Piston Motor with Reduction Gear

M3X / M3B SERIES -« v vvvemmmeeeeeeeeeeee e 23
Swash-Plate Type Axial Piston Motor

6 ) ) =1 =] =1 T o5
OPERAT'ON PR'NC”DLE ......................................... 27
PARK”\]G BRAKE(Oonn) ....................................... 27
DISPLACEMENT CHANGING MECHANISM OF M3B SERIES -------- 28
CAUT'ON FOR HANDL'NG ..................................... 29
P|P|NG ......................................................... 31
SPEC'F'CAT'ON STUD|ES ...................................... 34

L2 ETEM

ATREEREFRERNTR, BRSER T FRERMTEED " FZ~mEERRES,
IWEETFXREMEHNREEZNE, FUER.

FmERREEEM

(1) =R EAREEEEm

O] Aii.%i
@ AE%‘
® AE%‘
@ AE%

ERERNAREEZS, BHTERER
RiFEEE.

AREFRNER ELEEE 2EH
RF BBEEER BRMERMELSE.

BAERE BT, AEE RS,
RSN % BB RSIRERER
R. 5. Ring.

B RNt _E MR R TR S B,
B R, BEZHRER.

(2) FRER, FEHNEEEEN

0] AEE

REFH BE BESEL EHAR

E M HHRE HIT.

«*AHENMIAE RERAEREL 25
SEZE AR AL EE.

BATEART, E S R BRI R IR X,
. RN EE B IEETRIA.
FHINEFRBEENEHHOBITHIA.

® Ag‘&
@ A;’iﬁ

® A;’i.%‘.

SERETRESCHERXABTU
BT, B SR AR,

BHRRI REEEE A E SRR,
BROZETR. BHHHRE SERK
RIRImE.

FERRIEN, 550 EARERER, XL
MERHAET LUE B IR BATHE SN
RE SERAHERR. WK, wB%E, 15
FRUEER.

(3) IZHEE R EEEM

D\ ke
@\ ¥
® 4\ ¥E
@4\ EE

EHBES IR B FTRERART, BT
SR RHI =R, BN REERE
e,

RIDASHEERE S LR ERIPE,
BrIEFRBEEEN.

RERE(RE. Rl B% W EZEE
1EiEFs, R ERE. BR IR, AR,
2%,

EBYREHN, MHRERR. BSE
ZREEMRELDAELREETUR
i\ REBFRIEE.

SAFETY PRECAUTIONS

Before you use the product, you MUST read the operation or operators manual and MUST fully understand how to use the product.
To use the product safely, you MUST carefully read all Warnings and Cautions in this manual. You MUST also observe the related
regulations and rules regarding safety.

H Cautions related to operation

© A

CAUTION

® A

CAUTION

¥ A

CAUTION

© A

CAUTION

Use the safety equipment to avoid the in-
jury when you operate the product.

Pay enough attention on handling method
to avoid pinching hands or back problems
that may be caused by heavy weight of
the product or handling posture.

Do not step on the product, hit it, drop it
or give strong outside force to it, as one of
these actions may cause the failure of
work, damage or oil leakage.

Wipe the oil on the product or floor off
completely, as the oil creates slippery
conditions that may result in dropping the
product or injuring.

| Warnings and Cautions related to
installation and removal of the product

© A

CAUTION

2A

WARNING

Installation, removal, plumbing, and wir-
ing must be done by the certified person.

*CERTIFIED PERSON : a person who
has enough knowledge like a person who
is trained by Kawasaki’s hydraulic school.

Make it sure that the power of the hy-
draulic power unit is turned off and that
the electric motor or engine has complete-
ly stopped before starting installation or
removal. You must also check the system
pressure has dropped to zero.

® A\
WARNING

RAN

CAUTION

® A

CAUTION

Turn off the power before starting wiring
or other works related to the electric pow-
er, otherwise you may be stuck by an
electric shock.

Clean the threads and mounting surface
completely, otherwise you may experi-
ence damages or oil leakage caused by in-
sufficient tightening torque or broken seal.

Use the specified bolts and keep the spec-
ified tightening torque when you install
the product. Usage of unauthorized bolts,
lack of torque or excess of torque may
create problems such as failure of work,
damage and oil leakage.

BEWarnings and Cautions for operation

® A\
DANGER

2 A
WARNING

® A\

WARNING

@
CAUTION

Never use the product not equipped with
anti-explosion protection in the circum-
stances of possible explosion or combus-
tion.

Shield the rotating part such as motor
shaft and pump shaft to avoid injuries
caused by being caught of fingers or

Stop the operation immediately if you find
something wrong such as unusual noise,
oil leakage or smoke, and fix it properly. If
you continue operating, you may encoun-
ter damage, fire or injury.

Make it sure that plumbing and wiring are
correct and all the connection is tightened
correctly before you start operating, espe-
cially if it is the first run.

@AE%
@AE%‘.

@AEE

FRETERER BE AESEILH
BB LLSN B R EE .

B, FRSEmBEMAEEERE L
FEHAFERNER BEETERAFM
S5 &m. Rz 5.

TIEHEERES M SHH 5 REHE
REEFETUEE UEHREERR.
AR,

(4) R3F - REVERFM

® AE,’%
@) AE.’%

® AEE
@ AE.’%

® A
CAUTION

® A\

CAUTION

A

CAUTION

EBE AN A EX =R ITHE.

FAEEEXM=RETHE, K. U
MEMRERRER AR, ISR A AIEE . 20
Rp BT RN, NEREARE
A ENIRE BT

iz RE~RH, BEIEEARRE. RE
SIE N BRI R BEE.

FRRKAREEETERN, FENEH
Hr2EBITER.

Use the product under the specification
mentioned in the catalog, drawings and
specification sheet.

Keep your body off the product during
the operations as it may become hot and
burn your body.

Use the proper hydraulic oil, and main-
tain the contamination in the recommen-
ded level, otherwise it may not work or
be damaged.

H Cautions related to maintenance

© A\

CAUTION

A

CAUTION

® A\

CAUTION

A

CAUTION

Never modify the product without
approval of Kawasaki.

Do not disassemble and assemble with-
out approval by Kawasaki. It may cause
troubles and failure, or it may not work
as specified. If it is necessary by all
means to disassemble and assemble, it
must be done by an authorized person.

Keep the product from dust and rust by
paying attention to the surrounding tem-
perature and humidity when you trans-
port or store the product.

Replacing the seals may be required if
you use the product after long time stor-
age.



KawasakifIFHE T DA M - iR " Dik B &Ko

High-Performance Motors You Have Been Waiting for

JIFEI R 2 X R A ZE Bk
Kawasaki Swash-Plate Type Axial Piston Motors

— R AU Pl
" for General Use for Industrial Vehicles
= —
Displacement — g — & R [l fiE TERE
(cm?) General General for Swing for Travel
EEDE Wik ik EE DA Wik Bk
Fixed Variable Fixed Variable
P rated=31.4MPa (K3X series) _ P rated=20.6MPa (size 22,45
29.4MPa Prated=294MPa 294MPa 5252 63,21)0) P rated=34.3MPa
20.6MPa_(Reduction gear type) 20.6MPa (Reduction gear type) 32.4MPa (size 130,180)
P max. =24.5MPa (size 22,45)
P max. = 34.3MPa P max. = 34.3MPa 34.3MPa (size 63,210) P max. =41.2MPa
39.2MPa (size 130,180)
— 50 K3X63
L 80 K3X80 M2X63
K3X90
— 100
K3X112 = M5X130
— 150 ~J
M5X180
— MCB195
200 M3X200 M3B 200 M2X 210
— 250
M3X280 M3B280
— 500 M3X530 M3B530 MCB530
—7
20 M3X800 M3B800
M3X200-RG03S
—1,000 with Reduction Gear
1500 M2X63-RG06
— b with Reduction Gear
M3X280'RGOGS M3B280-RG06S P rated=28.0MPa
piitiedUCHOMICeat with Reduction Gear
M5X130-RG10
with Reduction Gear
P rated=27.4MPa
—3,000 M5X180-RG16
with Reduction Gear
P rated=24.0MPa
M3X530-RG10S M3B530-RG10S
. ) . ) M5X180-RG20
with Reduction Gear with Reduction Gear with Reduction Gear
P rated=29.4MPa
M5X180-RG17C
with Reduction Gear
—5,000 P rated=23.0MPa
M3X800-RG16S M3B800-RG16S
with Reduction Gear with Reduction Gear
M5X180-RG23C
with Reduction Gear
P rated=24.5MPa
N N TN N N NN N N N N NS N N N N
—20,000 M3X280-RG100C
with Reduction Gear
P rated=27.5MPa

ELiafER, HX [ EENMNER ERRBBPFUNE.
This catalog introduces motors for general use. (Colored in ] in the above table.)

4K FEATURES

1. HlHMREEERE X

® FTEDIAMIXZRT, F4Hl#. 10HE, BET149cmd~
800cm3; HE IEHL I M 845cm3~ 5120cm3, F B, K3XZFI
E AT FNEE B S T 63 ~111em B4 SERE.

® TEDIAM3BRS, B4 MBS 7195 ~ 800cm?; & iF
HIMZBZT1512cm® ~ 5120cm3, K HFE FUNHEE HIEEF

=
=

Hoh EEBI AT EIEE .

2. B B IR BE 71 FNEE & (M3X, M3B, K3X)
® BT Ik BECHEN S &K E &R T e B RS E
ik

3. BT LR SHY S EERT E 1 (M3X, M3B)
® 417k T AFKKEZEMAIMX/MBZR FIg943iE
o ETAENMMN L RHighER S LRIE,

4. {EEFEEH (M3X, M3B)
o EiMERNHEABTE EEFIFNE.
o DiiimHl A& @Al L RIEE DL L.

5. HAth Dk

o E TR MHEEDARXALENIIREEEEHHIM2X,

M5XZ 51

o T MM 1T ERmEX BiAMCBERF, R = A re
DNBZ3I

o EAREAMERRHEEDE

M3XZ71
M3X Series

M3B%7l
M3B Series

1. Wide variety variation

® Fixed Displacement Motors
MB3X series consists of 4 models and 10 displacement
types ranging from 149cm?3 to 800cm?3. M3X with reduc-
tion gear series covers a displacement range from
845cm? to 5,120cm?. K3X series is made up of 4 models
with displacement range from 63cm?3 to 111cm?.

® Variable Displacement Motors
M3B series consists of 4 models with displacement
range from 195cm3 to 800cm?® and from 1,512cm?® to
5,120cm? for those with reduction gears. Several com-
binations of large and small displacements are available
along with a wide variation of regulators are also avail-
able for various control options.

2. Excellent self-priming capability
and max. speed (M3X, M3B, K3X)

® A spherical surface type valve plate and full-balancing
mechanism enhance self-priming capability and max.
speed.

3. High reliability based on long experience
(M3X, M3B)
@ Building on the knowledge and experiences of reputed
MX/MB series, M3X/M3B series have been widely used
especially as winch motors.

4. Optional parts (M3X, M3B)
® Built-in parking brake is available for M3X/M3B motors.

® Various control valves are available for M3X/M3B
motors.
5. Other motors

® M2X/M5X series motors are specifically designed for
swing function of construction machinery.

® MCB series plug-in motors are available for traveling
construction machinery.

Low speed, high torque radial piston motors are pre-
@ pared for general industrial use.

e '
W . YI’
S J
A
&)
’.7

M3X/M3B-RG% %l
M3X/M3B-RG Series



EENHRHEEL A M3X Series

Fixed-Displacement Type Axial Piston Motor @® 1% ~ SPECIFICATIONS

Eil = /model M3X200 M3X280 M3X530 M3X800
- H B displacement Vg cme 195 280 533 800
Serles E M E rated 29.4 (300)
pressure —
MPa (kgf/cm2) = 5 max. 34.3 (350)
MIXZFUMEA—R TAHH - TERIMADE SBYTF £ B % # /macspeed  nmax min~' 1,900 1,700 1,400 1,200
= SRR b S RN AT SR A 3R —iE, ST T T
;;?iﬁ’*ﬂﬁrim“ﬂx’%ﬂﬁ* B SR TRERUAMBEE B X i £/ maxflow L /min 370 480 750 960
) # E ¥ 4 rated torque N'm 910 1,310 2,500 3,750
The M3X series are newly developed motors for construc- M E I ZE . rated power kw 180 230 370 470
N tion machine-_ry, industrial machinery or other appli_cations. A B E B case volume L 1.0 13 o5 38
The design based on technology and experience of GD2fE o inert N2 o ™ — o
B current MX series is more compact and enables a speed moment o inerta m : : :
% range. )54 mass 2 | 5 standard 42 62 90 133
kg H#1=% 43058 with parking brake — 80 134 195
@ M3XiZ EHEE R/ M3X Optional capacities )
# 5 H 2 g_i_Splfslcement(skiﬁt&/standard) SEEH p XN =constant
HIEZEHIZNE fit with parking brake et BEEE max. speed max.a;i)gséure
Vg | %195 149 e -~
h M3X200 |, mgx. 1.900 2140 ;Trﬂ rated%rg:s}s%zg
@451 FEATURES vy Vo | 7200 | 752
o - N max. 1,700 1,770
1. L FHY R RE 1. Advanced Low Speed Characteristics Ve | =533 | 499 | (85 | 467
_ _ , - M3X530
PR R T, AR (R R E, RENZIHR A KN l’jl?W deSlgndWSIICh rEdUCESdplr_t?S?Ufedrlpple a}?d friction iﬂa- ”‘“/’;X' ;ggg 1;‘;’? (1%270) 1;‘;’? N max.
TR EIE R H K A IGss Y R shiE gE . a(l:rtwegrigssan ed lower speed limit and smooth starting char- M3X800 Tl G s 0 1270 P

permissible pressure, speed related

2 Bl @® S5 H%E 1T 85 CALCULATION FORMULA

BURAEARDEOTHE RN TEHRM BEEE  Now materials enable an increase in the maximum speed mEEE Umin Vgn P
N - which has 1.5times of curren series. LR V= g 2 8
EEBIMXZRFIRIZY1.565. required input flow 7 1,000-77v displiement o
. . . . T ¥ O N+m
g Wi # min R qv+1,000-7v torque
3. BEAS 3.BestFit .. | output speed Vo noo% o e
. . . speed
7E149cm® ~ 800cmeHISE R, ICE TA4HF10 HEE I Dk, 4 models and 10 capacity motors are carried in 149 -800 W EHEE  Nem (kgf-m) _ Ve-dp-zhm 2p ﬁpﬂﬁﬁﬁ MPa (kgflcm?)
o si i 4 = /B s N cm?, Installation is the same as current MX series. Larger output torque 2+ effective pressure difference
AREEEBSVXAIER AL ERBESS. B4 EBLS o ol it o RG oo 9 e
\ o s capacity is possible with reduction gears RG series. - VR~ et
BHEHRGRIINAS AT BREAWHBISH0T.  GE00OP0 g mi E W(ES) , _ 2Tn _ Tn volumetic efciency
output power ~ 60,000 9,550 7hm  HEHE
Ap mechanical efficiency
TE=0E o _ Jvor, Tt BHE
.@?%E/ORDERING CODE - 60 7t overall efficiency
530]-[A] [C| [N]-[485- [001A]- D3] @R~} DIMENSIONS s sen
M3XZ 3 [M3X 353 ACN] N Lo/ M [MBXsi BPN]
M3X series B o A B Y f A B
mE oil temp. code 5 5
HEE KN size c P = ‘ P = |
. : 2 8| mEeE & o T
200 1950mz 530 5330mz :narlg oil tengpénrtnﬁre range remarks ~ =3 ‘ ' i - | —‘-—U-m:,
280 : 280cm 800 : 800cm V2 | 20C=6=90C a%i“ﬁiﬁ?ﬁj?ﬁﬁ? F Hﬁ x - F H* T i
v1_|-20c=<6=00cC |, TheAREE a( [ = b
e A . ' :
fiflj?ﬁgiggtopzonjl function code 5 | p0Cc=p=90C w - i N c Ve Wapsis
. PRE Standar o o = ] i
B e _ D1 [-30C=6=90C = =3 i
-1 S T T —
B : #HEZEHIZNEE fit with a parking brake D2 | 45C=0=80C J é = - =" _ T
LIk shaft code =3 = 2 - &L”LLJ‘ B i
C © JISHiFLLR (ShE) (#57E) BiE
b .j:g;‘;'ét;ig'(”;q;x)tema') (standard) design code R <+/size] A|B|cCc|D|]E| F|la |H] 1] J K L M| N] O] P s
‘ Jls'invol'ut:sp”ne (internal) P M3X200ACN | 107 | 263 | 50 |225 | 20 | 160 | 115 | 110 | 224 |4-¢18| 75 | 2X4,M12-175| 72 | 22 | 190 | 9 | m=25, z=16
1 JISHE o'pﬁonaﬁapacity M3X200APN | 49 | 263 | 35 225 | 20 | 160 | 115 | 110 | 224 [ 4-418| 75 | 2x4,M12-17.5| 72 | 22 | 190 | 9 | m=25, z=13
JIS straight key 0GR M3X280ACN | 98 | 290 | 45 [252 | 22 | 200 | 130 | 124 | 268 [ 4-17 | 75 | 2x4,M12-17.5| 72 | 25 | 230 | 11 | m=25, z=16
, - " showed only optional capacity M3X280BPN | 33 | 290 | 44 |252 | 22 | 200 | 130 | 124 | 268 |4-¢17| 75 | 2X4,M12-175| 72 | 25 | 230 | 11 | m=25, z=16
HERe 71 (AR E, AdhiE ) . M3X530ACN | 123 | 316 | 54 |278.5| 24 | 250 | 165 | 154 | 335 |4-¢22| 75 | 2x4,M12-17.5| 72 | 30 | 280 | 19 | m=2.5, z=20
direction of rotation (A port: high press., view from shaft end)
R e [ R A ) _ ) M3X530BPN | 38 | 413 | 55 |278.5| 24 | 250 | 165 | 154 | 335 |4-422| 75 | 2X4,M12-175| 72 | 30 | 280 | 19 | m=2.5, z=20
N - IRE 551 R/ ) clockwise rotation (standard) M3X800ACN | 130 | 350 | 62 |312.5| 27 | 280 | 178 | 169 | 376 |4-422| 75 | 2X4,M12-17.5 | 72 | 28 | 310 | 16 | m=3, z=19
M ERH$T77EIAE#S anti-clockwise rotation M3X800BPN | 45 | 461 | 62 |325 | 27 | 280 | 178 | 169 | 376 |4-¢22 | 102 | 2x4,M16-23 | 92 | 30 | 310 | 16 | m=3, z=19




® 48t PERFORMANCE CURVE

M3X200 QU3 ZE Mechanical efficiency (%)

ERm#EATFYE MARRIEE.

The values given in the below figures are mean ones, and not guaranteed ones.

@ BT - SRt F ./ Volumetric efficiency
T 5

100 : 100
—30MPa X : =
% e ‘(7306kgf/cm2) %0 __—p=1oMPa‘ p=30MP‘a P=20"1V|Pa(204kgf/cm2)
5 — \\ z (102kgf/cm?) (306kgf/cm?) -
2 \ c £
8 S~ ™~ 2 £,
2 80 ~<— p=20MPa (204 kgf/cm?) £ 80 3 Jo
o5 \ X0 g
o g2 Es
U I, p=10MPa (102kgf/cm2) gs 70 o B2
&S 5'55 Pp=30MPa (306kgf/cm?) P =
£ e -t =3
=
=E 60 60 S el .
e ===—" _|===="[ p=20MPa(204kgf/cm?)
- | =
=== === T T - —=="|" p=10MPa (102kgf/cm?)
50 50 e 2
0 400 800 1,200 1,600 2,000 0 400 800 1,200 1,600 2,000
¥ & speed min”’ #% # speed min"
@ 233 E / Starting mechanical efficiency @ 126 513 i & &/ Radial load and bearing life
£ 1,000 1,000,000 —
£ (100) = syoole| ¥ | F
2 800 = BT
Z o0 =T ¢ deg.| N
£3 (0 // <z oL |deg
Z% w0 100% // o5 100,000 o T 5
= (60) 85% -4 @ 90| 7,000
®3 400 £ ® | 90][14,000
&3 €= :
Hs 0 w2 1000 @ 0[14,000
&2 200 A S ® |180]14,000
" E (20) 4/ i8] a =82mm
Wa 0 1,000 Vg=1950m*
0 25 30 35 5 10 40 n_=1,000 min

5 10 15 20
(51)  (102) (153) (204) (255) (306) (357)
% JE different pressure Ap MPa (kgf/cm?)

Q= HIFKENMEFFKIEEMRL /Idle & boost-graph

¥.F. allFOTHE.
Regarding ¥, F and a, please
refer to the figures in page 9.

E 51 pressure p1+p2 MPa (kgf/cm?)

@ RiF4F1E/Shaft creep speed
5

M3X530 @ Z /Mechanical efficiency (%)

100 I
p=30MPa
= (306kgf/cm?)
90
>
g p=20MPa (204kgf/cm?)
§ 80 \
0\02 p=10MPa (102kgf/cm?)
g-é 70
=4
£3
BE g0
50
0 500 1,000 1,500

% &% speed min~'

@ 5513 % /Starting mechanical efficiency

E 3,000
5 (00) =
o =
o o :
bt % O
°H P N
£3 1,000 . i
g2 (o) = -
R &g
87

¢/

0 5 10 15 20 25 30 35
(51) (102) (153) (204) (255) (306) (357)
£ [E different pressure Ap MPa (kgf/cm?)

t OTHIRKEHHLFRMIBERL /Idle & boost-graph
E 0.10

% (20.42) | (1.0) %

. ] =

z i ]

Qe(wz‘) // 0.05%§

R 3010 RO

Lii{'(@ / /// 1 Q%

%; - /// i $§

KHE pr/ | 0.00 Eé

0
0 200 400 600 800 1,000 1,200 1,400 1,600

M3X Series

jHig /oil temperature:50C
5B /oil viscosity:32mma/s

@ EFAE - 4Rttt/ Volumetric efficiency

il

& flow (L/min)

M3X800 QL %ZE ~Mechanical efficiency (%)

— 2 0.1
NE (20.4) / (1.0)
2 T o 4
2 Se i
a g 3 E® 3
= £ 3 ]
Y I _ 00 =3 WS 2 =
0(102)| —] © gg 05
IS 5 QT g5
e B
e il a3 0
P2 pid g 0 5 10 15 20 25
we e (51) (102)  (153)  (204)  (255)
= —0.1 HIEES pb MPa (kgficm?)
0O 100 200 200 400(71 .0) braking pressure
# & flow (L/min)
M3X280 QW3 ZE Mechanical efficiency (%) @ FFALE - SMERi R/ Volumetric efficiency
100 100 10
\
p=30MPa A
ool =—F——1—_| (306kgtiom) ol  o2oompa \:
—_— p=10MPa (102kgf/em?) 7'(a04gt/cm?)| P=30MPa | 8
5 \\\: g g (306kgtiom?) ¢
2 w0 [~ | P=20MPa(204kgt/cm?) 3 80 § °
£ ~ | .5 62
22 p=10MPa (102kgt/cm?) ;é u@%
O - $=
we o gg 0 B -
3 <5 ;
#5 b p=30MPa (306kgf/cm?) _’,/’ %3
= E 60 60 L= L-
— o S 2
a7 ek ==="""] p=20MPa (204kgf/cm®)
50 50 == ______—‘— | B
[ S e p=10MPa (102kgf/cm?)
0 400 800 1,200 1,600 2,000 0 200 400 800 1,200 1,600 1,80
# & speed min~' % # speed min”'
@ B33 % / Starting mechanical efficiency @ 2[5 & Fnih& S/ Radial load and bearing life
~ 1,600 _
e 1,000,000 < N —
5 5 sy;{:ole
=, 1,200 PN i
E3 (i20) // =< 100,000 o8 d;% N 5
zs % 5 ce
52% (%%2 199% / 85% —3 ® | 90| 7,000
= = [6) 90 | 14,000
%8 100 // ﬁg 10,000 @ 0 14,000
&2 (40) ~ N © ® (180 14,000
E:‘% 200 #3 ; 3 ~755mm
» (20) 1,000 H 9= 280 cm“_ B
(5> ( 0) (153) (20) (25) (JO) (35) ° 10 0 FoTr—
51) (102) (153) (204) (255) (306) (357 .F. AR EOTME.
% [ different pressure Ap MPa (kgf/cm?) E A pressure p1+p2 MPa (kgfiom’) Regarding ¥, F and a, please
8 N fer to the fi i 9.
O THIRLE N FIRKIEEZ /Idle & boost-graph @ RiF451E / Shaft creep speed refertohe figures In page
2 0.1
T (204) 10 °
2 E T 4
H / se 33
©
o = a a
o § @
E / % g g2 //
E | 00 Lo '@t
NURI / © &5 Re 1
8| e g 0
1 =l 0 5 10 15 20 25
Eo ﬁg (51) (102)  (153)  (204)  (255)
ﬁ% 01 HIZES pb MPa (kgfiem?)
- 0 (—1'.0) braking pressure
0 100 200 300 400

7 & flow (L/min)

100
p=30MPa
% — | (306kgf/cm?)
>
2 ——
§ \§
°\°l§ 80 \\p:zoMPa (204kgf/cm?)
e p=10MPa (102kgf/cm?)
®S 70
£
= E
60
50
0 500 1,000 1,500
¥ & speed min~'
@ Eh3ZE /Starting mechanical efficiency
—~ 4500
£ (50 _
H £
E3 N =
=5 2,500 100% // °
- -
a3 &0 e
g3 == &
ag [=2]
‘g% 500 / %
&5 9
0 5 10 15 20 25 30 35
(51)  (102) (153) (204) (255) (306) (357)
% £ different pressure Ap MPa (kgf/cm?)
T  OTHMKRENHMLIFRILERML /Idle & boost-graph
g 2 02 ~
2 (204) @0 g
s 5Q
< Ex
: / £
s ! e 01 2D
1 9 Z
8102 T (1o &5
& a%) / w3
Xa pid 1 / ﬁg
o :
B ol op o WE
= 0 200 400 600 800 1,000
i & flow (L/min)

100 50
_ 2
%0 =TOMPa (102kgflem?)__p_30MPa 20MPpa (204kgf/cm)
o (306kgf/cm?)
5 £
c
2 80 30 3 %
W= 70 20 B
e B
=5 p=30MPa (306kgf/cm?) =3
e g9 —% == 10
" _ = P=20MPa (204kgf/cm?)
50 S2222E====222300 - - - - p510MPa(102kgton’)
0 500 1,000 1,500
% # speed min~'
@ 12611 £ Flih A& %/ Radial load and bearing life
1,000,000 ==
sylrEI;ZIe v F
£ 100,000 it |oes| W
s U ® | % 0
i 90 | 9,000
2 [€ 90 |18,000
2 10,000 @ 018,000
§ | ® |180 18,000
ol e
= cm
1,000 5 10 20 ng: 1,000 min™
E 71 pressure p1+p2 MPa (kgf/cm?) . F. all EOTIHIE.
Regarding ¥, F and a, please
refer to the figures in page 9.
@ {RiF45 1/ Shaft creep speed
5
o 4
e
Q
g 2 //
g ©
RE ]
-G //
0
0 5 10 15 20 25
(51) (102) (153) (204) (255)
#IZHES  pb MPa (kgflcm?)
braking pressure
@ [FARE - SMESHR . Volumetric efficiency
100 50
—
% 90 |—p=10MPa (102kgficm?)—P>-20MPa _, 23qypa 1 40
S (204kgfiem?) {(3ogxgtiome)| £
53
:T;E % Y ey
e B8
®5 70 20 %3
tws p=30MPa (306kgt/cm?)
50 p=20MPa|((204kgf/cm?) - 10
50 SESEs= ;;;::::_:::::——-p:IMI(’)a(102kgf/cm2)
0 500 1,000 1,500
% # speed min~'
@ 126512 Fdh & % &y~ Radial load and bearing life
1,000,000 e
syrnt’w?)le v F
£ 100000 inke_|%e0| N
s ® | % 0
O [6) 90 | 9,000
2 ® 90 [18,000
o 10000 @ 018,000
§ ® |180 18,000
kel : : a =99 mm
1,000 1 L~ Vg = 800 om’®
5 10 40 n =1,000 min™
E 71 pressure p1+p2 MPa (kgf/cm?) . F. all EOTIHE.
Regarding ¥, F and a, please
refer to the figures in page 9.
@ {R1F45 1/ Shaft creep speed
5
8 4
£a
E2 3
3
WS 2
R
E _—]
/
0
0

5 10 15 20 25
(51) (102) (153) (204) (255)
HIZEH pb MPa (kgflem?)
braking pressure



@® it7% 545, BEARING LIFE

B A& E & R ENo=1,000 min"' BT it E 4y (B103E6r).
EEEENHNMITEEG AT ITEAKRE.

B The calculated life(Bio life) shown in the graph is for speed
No=1,000min""'
Calculation of life for a random speed N is as follows.

Lo No o (LOIS(#NOH@_i'I'ﬁ%ﬁ)
N calculated life for No

& MI3XBIHTH7% 6/ Front bearing life @ M3XH) 544K i1/ Rear bearing life

1,000,000 R
X\ 1,000,000
\
— \\ 200 —
& \\\\ 280 E
<E 100,000 N\ ~£100,000
eg S =2
4 \\ a4
&2 5307 \\ &2
2 80 N\ g
g 10,000 \“\\ N g 10,000
#3 N\ #HS
AN
1,000 1,000
1 10 100 1 10 100
(10.2) (102) (1,020) (10.2) (102) (1,020)
E H1 p1+p2 MPa (kgflcm?) E 71 p1+p2 MPa (kgf/cm?)
pressure pressure
() p1: AOEA p2 i HOEH
(Note) Linlet pressure . outlet pressure

® 2@ RADIAL LOAD

B A EE A BERRN, FRTEMTARMERTURE.
ZAHFENFFREEAAR, FSREESHE.

MIn case that radial load is applied, you are requested to in-
stall the motor so as to place the radial load toward the ar-
row direction shown in below. Please refer to the relevant
list of each motor for allowable radial load.

[M3X200]
[M3X530]
[M3X800]

[M3X280]
15 1 ESTARIE

tilting direction mark

77 [ 6 R RIS

tilting direction mark

m
-
o J

N Ah-lh.ll J

M3X Series
® =% %328, PARKING BRAKE

£ /model M3B200 M3X280/M3B280 | M3X530/M3B530 | M3X800/M3B800
%I 2 % 4B brake torque N-m | 1,400 | 1,050 | 530 | 1,750 | 1,320 | 660 |3,770 | 2,820 | 1,410 | 5,010 | 3,770 | 1,880
*gzlkz’*p?’fj] FBES cracking 1.8(18)|1.4(14)| 0.7(7) |2.3(23)|1.8(18)| 0.9(9) [2.4(25) [1.8(18) | 0.8(8) |2.4(25)|1.8(18)| 0.8(8)
M (kgtlor?) | 1TTE43 strokeend | 2.3(23)| 1.8(18) | 0.9(9) [3.0(31)|2.3(23)|1.2(12) 3.1(32) [2.3(23) |1.2(12) [3.1(32) | 2.3(23) |1.2(12)
K E |L16G L16-G L16-G L16-G
SR | lowpress, |(FE) | L12:G | L6G | (k) |L12G | L6-G | k) |L12-G | L6G | () | L12:G | L6-G
%Ufﬂ]%ﬁ %M%{’cﬂ _Int In p! - |(standard) (standard) (standard) (standard)
4 | pilot release [ =
brake order code ﬁgh’isg — | — | — | — | — | — |H16-G |H12-G | L6-G |H16-G |H12-G | H6-G
FimEEE B E
valve release | high press| ~— — — — — — — — H6-B - — | H6-B

(7E1) MIXZR T AR FI ZEE AEEFEE M.
EDEEEPERNEMR ZIHE.

(iF2) REBBREENTERHEE N L7.8MPa(80kgf/cm2) AT
BIE N, BHTH ShEs Rk, ISR IE N SitiR E WIEEK
ATERED BFUEE.

(7E3) MIENH “‘He-B” BRMITE AE EMMBNBERE N, B SERHIZh
2.

(Note1) The mechanical brakes of M3X/M3B series shall be used for parking
only so please make sure not to apply the brakes when motors are
driving.

(Note2) In case of low pressure release type, brake release shall be conducted
by providing hydraulic oil pressured more than stroke end pressure and
less than 7.8 MPa (80kgf/cm?2)

Please note that effective pressure is the differential pressure between
brake release and drain.

(Note3) In case of motors with H6-B as brake model code, release pressure is

provided from traveling counterbalance valve, and the brake is auto-
matically released.

@ [@3%E /Hydraulic symbols @ FIZNER5M I/ Outline view of brake port

PR3
HINBHIERD (LXK -G 7 7 e L~ ML
brake order code - PR | i -} I
I Fth ©
)= EES— =gt
VDY ! 7\ .7 .
U | \S2/ g/
| i 3D|:|1 rPR1
‘ : " (Dre) (PR
Ll D
A B ~ |
\
HIZRMERD (HXOX -G :
brake order code N
[ ~ :
y @ -t
! || I J(E?F:Z’)il :5
I = 1
a A B ’ -
HIZNBMERED 1 H6—B ‘ I L Upre
brake order code [ h
_ = 00
=N
o O | . OB
AM = Nk Bm | ) T
IE_, || I 3(D':::IQ'/;,
=
T

10



11

TEINMOEELDIA

Variable-Displacement Type Axial Piston Motor

M3B Series

L
I

= : ’ N

HEEHIZNEE fit with parking brake

@® 1351 FEATURES
1. LR REERE

BT PRI M Bh. FPE (R & RS AR T
R 3R 35 B 3 K Fn g B 2 B 1 RE .
2. BIELAISEM

Bt X HEsE i ENEHENTEEERNY K MTmE
IR AT, K//NHEERHEEEL M IBRAIMBRIFG2(58
KE3E,
3. WNEMEEEFHF*
A B R[] ]

B : 5 Fr
C BT ERIZHIE + HE B TR A= Fi

(BEERLAR)
4. eIl TR S THEE 125

SR 3 P L A ) D L L 5 I D S B 1 2 R O
FS B THE RS I R TR

@®Z!S %K=, ORDERING CODE

M3BZ %I, e 5 M3XRFB A, St TR BRI RE AT
SR ER Dk TEYHERRBETLRLSEHAMBIIEF A,
FIRHE WEHEE L I K I3 65, R 3T A W= HI LS B R 3=
Hil4h B A AT BE.

The M3B Series are variable displacement type motors
with the same rotary components of M3X Series which
enable the advanced low speed characteristic and high
speed operation.

The design of various displacement control is based
on current MB Series. The range of displacement is
100%—33% with 3 types of various displacement control
regulators. Electric displacement control is also possible.

1. Advanced Low-Speed Characteristics

New design which reduces pressure ripple and friction ena-
bling expanded lower speed limit and smooth starting char-
acteristics.

2. High-Speed Operation

New materials and enlargement of variable displacement
range have enabled the higher maximum speed. The ratio of
large to small displacement is enlarged from 2 (old model/MB
series) to 3.

3. Various Displacement Control Regulator (3 Type)

A Directional control valve
B: Sequence control regulator

C:Speed & CHP control regulator (Refer to next page)

4. Electric Displacement Control

The pilot pressure can be controlled by a solenoid-operated
directional control valve or a pressure-reducing valve.

M3BZ 3l
M3B series

A& K1)\ size

200 : 195cm® ~106cm®

280 : 280cm®~ 93cm®

530 : 533cm®~178cm?®

800 : 800cm®~267cm?®

{Ei£ThEERAD optional function code
A ' ¥R standard

B @ H{EZEHIEIEE fit with a parking brake
LI shaft code

C : JISERFFLLIESRE (SME )

JIS involute spline (external)
P JISHiFFLTER (R )

JIS involute spline (internal)

1 JISE#
JIS straight key

(FRifE)
(standard)

530]-/A| [C|-[533]/[178]-[001A]- D3|

REHE oil temp. code
i & HEEE % &

marks | oil temperature range remarks
V2 |-20C=6=90C SREHEREARIBR

all seal parts: fluoro-rubber

Vi |[-eoc=6=90cC |, BEEARAR
7| -20Cc=6=90C
D1 |-30C=6=90C

D2 |-456C=60=80C

it S
design code

INHEE (cmd)
small displacement

KHEE (cm?3)

large displacement

@ 1142~ SPECIFICATIONS

il S /model M3B200 M3B280 M3B530 M3B800
H E | B K max. Vg max. 195 280 533 800
deplace™e™ | ® A min. vomin | 106 93 178 267
i i X rated 32.0 30.0 29.4 (300)
pressure
MPa (kgf/cm2) B 5 max 35.0 35.0 34.3 (350)
B 5 % & n1, max. at Vg, max. 1,900 1,700 1,400 1,200
max. speed
min—1 n2, max. at = 1/2 Vg, max. | 2,930 2,200 1,700 1,500
B K & &/ maxflow L /min 370 480 750 960
;M E ¥ % rated torque N'm 990 1,340 2,500 3,750
i OE I ZE rated power kw 200 240 370 470
iH % A il £ case volume L 1.6 2.2 4.2 6.3
GD21{& / moment of inertia N-m2 1.4 3.0 7.3 14
B s E | #5  # standard 72 93 147 235
kg = HIZNES with parking brake 88 110 189 277
& M3BiZEH 2% /M3B Optional capacities
2 H & displacement (¥ : 4R /standard)
model BE%E  max.speed
Vg1 [*195|cm?
nx,max.| 1,900| min-!
M3B200 -
V9,2 | 127/* 116] 106 E?Ej]p p XN =constant
nxmax|2790, 2,930 max.E;_L);:]ss‘ure
Vg1 |*280| 252 BEED

nx,max.| 1,700(1,770
M3B280

V9,2 | 200 166] 149]*140] 132 | 115 [ 99 [ 93

nx,max. 1,940,060 | 2,110 2,200

Vg1 [*533| 485 | 477
nx,max.| 1,400(1,420 {1,430

M3B530

rated pressure

V9,2 | 370| 340| 327| 315

280[* 267 242 214 | 192 | 178

nx,max.| 1,580(1,630 |1,640 1,660

1,700

Vg1 *800| 751 | 737| 653
nx,max.| 1,200(1,230 |1,240 1,300

M3B800

V9,2 | 554 533] 500| 470| 434] 420[*400] 369 | 321 ] 267

nx,max.| 1,380(1,400 |1,430 [1,450 |1,480 | 1,490

1,500

® R~/ DIMENSIONS

[M3B200AC] A
[M3B530AC] o
[M3B800AC]
P
v A
e
C
A
[M3B280AC] | -
g
q S/ o
“‘ c E* o

“'

view V

A v L

M3B Series

@ A7 8/ Regulator

A - T R[] 7]
RIBIMDIE L EIHR K/ INHER.

B : i1

RE R BRI KN, B/ IR,

C . EUER@-HELRIEFRTILHEEH
T, F eI H R RIS EIEE R ThEE X
RAMEMES ERMEEIEFIHIRE. 5.8
PP E i 460 ] 1) =5 R R B 191 0 FE KR 4 1 M ED
EQENEB S, HITHEEEHH 26,

A : Directional control valve
Shifts displacement small or large by re-
mote control signal.

B : Sequence control regulator
Automatically shifts displacement small or
large depending on the load.

C : Speed & CHP control regulator
Maintains constant horsepower regardless
of the load.Controls displacement at any
position by pilot pressure. The pilot pres-
sure can be controlled by a solenoid-oper-
ated directional control valve or a pres-
sure-reducing valve.

CHP : Constant horsepower

4¢]

Vg, max.
Vg, x
1/2V49, max.

n1i, max. N2, max.

BFRSEE

[M3B200BP] A
[M3B530BP] ©
[M3B800BP]

permissible pressure, speed related

N max.

Nnx, max.
B ERERE
permissible pressure, speed related

[M3B280BP] ©

A

R ~t/size | A B C D E F G o
M3B200AP | 40 |286 56 [249 200 | 144 70 | 250 | 4-¢22| 75 |2X4,M10-175| 62 | 22 |236| 9 (110 | 198 | m=2.5, z=16
M3B200BP | 40 |368 56 |249 200 | 144 70 | 250 | 4-¢22| 75|2X4,M10-175| 62 | 22 |236| 9 |110 | 198 | DP=12/24, z=17
M3B280AC | 98 |338 45 [299.5| 200 | 130 95 | 268 | 4-417| 75 |2X4,M12-175]| 72 | 25 |[250| 9 | 80 | 255 | m=2.5, z=16
M3B280BP | 33 |405 51 [299.5| 200 | 130 95 | 268 | 4-417| 75 |2X4,M12-175| 72 | 25 |[250| 9 | 80 | 255 | m=2.5, z=16
M3B530AC | 97 |389 54 |351.5| 250 | 165 | 119 | 335 | 4-¢422| 75 |2X4,M12-17.5| 72 | 30 |300| 15 |126 | 289 | m=2.5, z=20
M3B530BP | 38 |486.5| 55 |351.5| 250 | 165 | 119 | 335 | 4-¢422| 75 |2X4,M12-17.5| 72 | 30 |300 |15 |126 | 289 | m=2.5, z=20
M3B800AC | 124 429 64 [391.5| 280 | 178 | 130 | 376 |4-¢422| 75 |2X4,M12-17.5| 72 | 28 |345| 16 |133.5| 330 | m=3, z=19
M3B800BP | 20 |540 64 | 404 280 | 178 | 130 | 376 | 4-¢22 /102 |2X 4, M16-23 | 92 | 30 |345| 16 |133.,5]| 330 | m=3, z=19

12



M3B Series
.'fiﬁ'é/PERFORMANCE CURVE B AN TE MARRIE jHid /oil temperature:50C

The values given in the below figures are mean ones, and not guaranteed ones. I o P
¢ o 9 5 /oil viscosity:32mma/s
@ ZZE /Mechanical efficiency (%) @ BFANE - SRt F ~ Volumetric efficiency QU ZE /Mechanical efficiency (%) @® BFARE - HMEBittiF .~ Volumetric efficienc
y
100 100 10 100 100 10
p=30MPa ‘ % ‘ 1 p=30MPa — T |
— —20MPa (204kgf/cm?
. ——— | (306kgtiom?) % — oMPa (102kgiler?) n>3OMPa p=2oh a (204kgt/cm?) o0l ————— (308kgt/cm?) % — X p=20MPa (204kgflcm?)
S — — =30MPa
5 —— - (306kgt/cm?) i > -\\: . p=10MPa (102kgffem?) R 306kgfiom?) B
2w N~ 5 . £, 5., \\ p=20MPa (204kgficm?) 5 &0 g,
195cm3 o8 —20MPa (204kgf/cm?) L5 g 280cm3 N ~ . |( : \°§ 6%
o, '8 o IE S o, b p=10MPa (102kgf/cm? 8 IE
(100%) ﬁgg 7 p=10MPa (102kgtiom?) #3579 . He (100%) ﬁ'é 70 *};é 70 p=30MPa (306kgf/om?) | - 4 23
S e e i Be e
55 &2 p=30MPa (306kgf/cm?) - E3 5% 2 ‘,.\,/ 23
- > ——‘
60 60 = - e P
| AT L _p_:.MPa2<2o4kgf/cm2> g 60 =1 " 7):20MPa(20421kgf/cm2)
CIIClo—===o Il - —=17"7 p=10MPa(102kgf/cm?) ——m—gm T et =" _1OMF
50 50 L ====1 fo=—- Io 50 50 S R p 10Mll’a0<102kgf/cm2>
0 500 1,000 1,500 2,000 0 500 1,000 1,500 2,000 0 500 1,000 1,500 2,000 0 500 1,000 1,500 2,000
% # speed min! % & speed min' % & speed min”! % % speed min~'
—10MPa
100 100 H102kgtiam? 10 p—10MPa
gf/cm?) 100 100 — (102kgf/cm?) 10
p=30MPa
— _30MP (306kgf/cm?)
90 \\ @gﬁcﬁmz ) % 2 — Y 8 ool —F—— SR . ; /{ .8
g —20MPa p=30MPa < — £
5 \\ T~ g Na20akgtion)  (30Bkgticm?) g, g T i ) 7 py2oMPa p30MPa -8
S o L g Se g \ 3 , 2 (204 kgf/cm?) (306kgf/cm?) =
106cm3 = ‘\\ ~ 5 80 6 "3 oem? S8 ~_ p=20MPa (204kgf/cm?) 2 s ‘ 6 Eq,
9 R 2 Eg 140cm .5 R g
(59%) wt 70 ™~ \ w5 70 =4 % 3 (50%) ;E — 10MPa (102kgf/cm?) ;; p=30MPa (306kgfiom’) el ?g
RE “N_p=20MPa (204kgf/cm?) ﬁ% p=30MPa(3oeka/c 2?\/] L= %3 & 70 P g %2 70 T 4
=8 \ | s presure P HE\ Paigtion® =52 20MPa (204kgf/cm?) 28 &5 1 -7
" 60 p=10MPa (102kgf/cm?) " 60 B S = Ry atebakgiiom =E s —q=="" | __.~=""|p=20MPa (204kgtcm?)
:::::::-—::::::____——— p=10MPa (102kgf/cm?) 60 60 ———— _-——____, T
===r=--1 —————T — —md==="""]p=10MPa (102kgt/cm?)
%0 50, 500 1000 1500 2000 2,500 3,000 50 ===mmootioT Jo
0 500 1,000 1500 2,000 2500 3,000 ARV "~ ' ’ 50
o - # ® spoed min~ o 500 1000 1500 2000  2.500 0 500 1000 1500 2,000 2,500
¥% & speed min
’ % ® speed min' % % speed min~'
@ B35 % / Starting mechanical efficiency @ Zm K ~Radial load 100 ‘ 100 ©
‘ ‘
. 1,000 . p—10MPa (102kgf/cm?)
£ (100) M3B200/Y% H A BERE IR E f1 3 . — p=30MPa
5 ~_A195¢m? . , f— — (306kgf/cm?) _—
2, &%(; /y No radial load shall be applied to M3B200. 90 —— — 90 < 8 £
E3 ™~ <
5 600 100% | g \\ 5 v %MPa p=30MPa (306kgtcm?) | = &
s (60) 85% 2 g0 S 80 A (204kgf/cm?) 6 EES
®a 0 3 £ ~ ~ 3} 22
#we 400 106cm 93cm3 B - g £ ‘ o
2 (a0) 100% =2 p=20MPa (204 kgf/cm?) 2B > RS
&2 200 A = [e5% (33%) We 70 = WE 70 p=30MPa <306kgf/°m;)' L i 453
RE &3 &8 P
&g el = £ 4 U el P
0 =E o p=10MPa (102kgf/cm?) tws 60 ===~ -~ p=20MPa (204kgf/cm?)
° <5> <10> <15> (20> (25 06 (55 === -7 P 2
51) (102) (153) (204) (255) (306) (357) R =7 g
JE # different pressure Ap MPa (kgf/cm?) 50 50 mmmfmm == === p‘ 1OMPa(1IO?)kgf/cm )
e - ) 0 500 1,000 1500 2,000 2,500 0 500 1,000 1500 2,000 2,500
O HMKE LR RILERL /Idle & boost-graph @ 7154514,/ Shaft creep speed # @  speed min~ % & speed min”
= 5 0.1 5
£ (51) (1.0) = . . - N .
g T s @ 2% E / Starting mechanical efficiency @ Z[E %7 ~Radial load
% 44 ?0?8 %Q %] 1,600 1,000,000 === =5
% (40) = § g g 3 /.é (160) 100% .!E‘ syLrEg;Ie v F
° 3 P 006 £2 $ P o 1,200 280cm Zz B geg| N
S (30 L 0 23 We 2 > 3 (120) // 85% = S100,000 L ® o] o
R % 106V Pbs(195~106cm) 85 ®o _— Zs 800 53 : ® %0 7000
Ha 2 = 0.04 48 5 (80) 100% | 2 ® | 90 14,000
®5 (20) — ‘% O = 0 — | g% / — |_— 140cmd T @ | ol14,000
o = Ba 3 |_—=—"85% S 10,000
®g === T95cm %_g 0 5 0 5 20 25 ?é > é;%? /l/ 100% E 3 ® |180 14,000
= I £ =
#T (1) —r . (51) (1020 (153  (204)  (255) RE e 93em” 2 N Yoz 28pam
- B oo e (kgtlom?) ey = 1,000 2= 1000 min.
0 = 0.0 aKing pressure 0 ( 5) ( 10 - 15 20 25 30 35 5 10 40 V.FaRERRNRTE.
0 100 200 300 400 51) (102) (153) (204) (255) (306) (357) 3 r 14p2 MPa (kgf/om? Regarding ¥, F and a, please refer
& flow (L/min) E # different pressure Ap MPa (kgf/cm?) B 7 pressure plsp a (kgtiom) to the figures of DIMENTIONS in page 12.
W& S /Bearlng life 0 Ooooﬁuimﬁ%ﬁ/ Front bearing life & [Fi% %6 /Rear bearing life QEHIRLE NS K BERL /Idle & boost-graph @ (R15451% /Shaft creep speed
s . R 000, N 5 0.1
AEFTEENO =1,000min " BT E &G (B10&6) . NN q : - 1) (1.0 °
EEREN, HEVy xFHITEFEGATIITELXKRE \( M3B28 5 T B4
=3 N ~ G T 9 L 0.08 £ T @
2 (4o‘§ 0 B E B 3
. . . . © =2 Q
The calculatgd_1llfe (B1o life) shown in the graph is for speed _ \\ < 3 Pbs(280~93cm?) | 0.06 & 8 8 ) ,/
No=1,000min & 100,000 G, \ o (30) 93ems A o |@ =3 |e /
Calculation of life for a random speed N and a random P NN\~ M3B800: =, / 1400m_r 47 iz 5 1 p
displacement is as follows. e < NN rS 2 v - 004 %
s N\ 23 (20) L~ e 0) g
3 N\ \ Eg // ‘// 280cm® © "3 0
- 3 - cm e 0 5 10 15 20 25
Va1  NO &t M3B200 X R e ——— 0,02 o £ (51 (102)  (153) (204)  (255)
Lx= ——. x Lo #e £ 10,000 \: ws — - HITEN pb MPa (kgifcm?)
Vg X N2 % 5 N\ N 0 =" 0.0 braking pressure
’ \ A
&3 M3BS30N-2 0 100 200 300 400 500
Lo &%  referto this graph \ # & flow (L/min)
Vg1 BkHE max. displacement Ny
(7 Note ) 0
P1: NOJEH inlet pressure 5 10 40 5 10 40
P2 HIOES outlet pressure (51) (102) (408) (51) (102) (408)
E 71 pressure P1+P2 MPa (kgf/cm?) E 1 pressure P1+P2 MPa (kgf/cm?)

14



M3B Series
.'rﬂfﬁE/PERFORMANCE CURVE B HEATHE MARRIEE jHIiR /oil temperature:50°C

The values given in the below figures are mean ones, and not guaranteed ones. o .
530 #5 /0il viscosity:32mmz2/s
@ HLH3ZE Mechanical efficiency (%) BRI - S ERitt iR ic effici e ; i = Sy -
. y 1000ﬁ N3 - SRt Volumetric efﬂmer;(():y QHHELZE /Mechanical efficiency (%) @ S E - 4METHER  Volumetric efficiency
~ 100 100
p=30MPa " 50
_
| (306kgficm?) ﬁ S 5
o % /‘T p=20MP2 0(204 kgf/cm?) % — p=30MPa (306kgf/cm?) N 20MPa (20|4kgf/cm2)
p=10MPa (102kgf/cm?) =30MP: 90 p=
g p=20MPa (204kgf/cm?) 3 9 A306kgtiam?) : = —_ p=10MPa (102kgficm?) ~ P=30MPa 40
s | 2 < g § > (306kgf/cm?) -
3 £ 80 ~—| g 80 30 £, 3 80 L p=20MPa (204kgf/cm?) 3 80 €
533cm 22 p=10MPa (102kgf/cm?) = -2 800cm3 5 ~ S 30 S5g
o x 3 =
(100%) we o WE 7o B3 (100%) 5 p—10MPa (102kgticm?) = @ et
®e &2 20 2% Bc - ey
Bg §§ p=30MPa (308kgf/cm?) w2 Ke 7 e 70 20 ]:EEE
=g e - &2 *é 8 ‘E;f% p=30MPa (306kgf/cm?) - %3
60 60 |—p—20MPa (204kgflom?) ———==r="——== 10 60 ~ 60 _}*_——"'
______—:E_\:::___——" p=10MPa (102kgf/cm?) =TT =~ p=20MPa (2041kogf/cm2)
50 50 mfenpenjunpunpen) S m—————TTT L mmm—— bemmmmmmm" _—: _
0 500 1,000 1,500 0 500 1,000 1,500 50 50  —mmmmepemme=—— === P ‘1°M"a.“32k9f’°m2>
% # speed min”' ¥ & speed min~' 0 500‘ 1 ’900 1,500 0 500 1,000 1,500
p=10MPa ¥ # speed min”’ # j# speed min'
100 I 100 —(102kgf/cm?) 50 100 ;z=10MPa
f—— = 2 100 ——(102kgf/cm? 50
—— p=30MPa (306kgf/cm?) _— p=30MPa N
90 — %0 e 40 £ (306kgf/cm?) A
? \ ~— - / \ £ - 90 —_— 90 / 40
s — p=20MPa (204kgf/cm?) ) / p=20MPa _p=30MPa (306kgf/cm?) DE§ g ‘\\ 3 /;=2OMPa p=30MPa (306kgf/cm?)
) 2 50 (204kgf/cm?) 30 ES g T~ g . 9 c
267cm?3 0 ® ~ ° a2 S 80 2 o (204 kgf/cm?) a0 £
(50%,2; ;E ™~ 3 ES 400cm3 R \p—ZOMPa (204kgticm?) 25 | Sg
L _ 2 = ° 51
#2170 p=10MPa (102kgf/cm?) ﬁg 70 S 20 (50%) BE oo ‘ W p=30MPa (306kgficm®) .+ ET
5 =5 p=30MPa(3oekgf/cnll,f B2 p—10MPa (102kgf/em?) HE 70 i — 20 22
= s - @ S Py 25
60 ” 60 |o—20MPa (204kgticm?) —_J.= il g 10 =E @2 p=2°MPa(2°4k9V°rfl'/ P =3
N~""Lo==""" | p=10MPa (102kgf/cm?) 60 60 =X e 10
————rm T e - -= 4"
o R I S . i ey A
0 500 1,000 1,500 2,000 0 500 1,000 1,500 2,000 % 50l ====o=er p=10MPa f102kgilemt) | o
# # speed min”' % & speed min~' 0 500 1,000 1,500 2,000 0 500 1,000 1,500 2,000
% % speed min~' % 3 speed min!
100 5
100 ™ SHompa \(jOZkgf/cmz) 0 100 100 \ 50
— = 2
o0 | TR0 ]MPa (306kgfiom?) A p=20MPa (204 kgf/cm?) p=30MPa p=10MPa (102kgflom
— T~ i I “0E 90 (306kgiom) 90 40
g \ [ l— 33 > —— / I
é . L S~ g / ’—\ - : \\ > /)/ Y .
1780m? s ~~— ~ © 80— e p=30MPa/(306kgficm?)-| 30 & 8 g 80 I~ \\ 5 g0 p_20Mpa __ P=30MPa (306kgiem)| . £,
o — & R © o}
(33%) g N p=20MPa (204kgf/cm?) 29 e 267cm3 22 \ p=20MPa (204kgf/om?) " / (204,(9%?12) "
e 70 < ﬁg 70 . o C (33%) U oy p=30MPa (306kgicm?) ~ _~7] =538
] 3 - 57 =5
§§’ \=1OMPa(102k t/em?) E“é p=30MPa (306kgficrf) ol E% \ BE ° pos 20 =g
RE o p gffem we 60 \ _-- - =2 p=10MPa (102kgf/cm?) e p=20MPa (204kgf/cm?) 4=~ - ne
p=20MPa (204kgiiore) =" =2~ 10 60 60 P ol B e 10
50 cemed=2 X7 L o—- p—10MPa(102kgtiom?) R
50 e e 50 eyt Y e
o 50| @ —m—m—— ————— p=10MPa (102kgf/cm?)
0 400 800 1,200 1,600 2,000 0 500 1,000 1,500 2,000 0 500 1,000 1,500 2,000 °
% # speed min”' % & speed min' - — ’ 0 500 1,000 1,500 2,000
¥% 3 speed min % % speed min'
@ 3513 FE / Starting mechanical efficienc @ ZETEEF : Radi g i s . . - . : -
5000 [¢] y o & [E7ar E Fn4h & &y~ Radial load and bearing life @ 2E%% /Starting mechanical efficiency @12 [a)757E; N K E &/ Radial load and bearing life
T (300) 100% O RS E o] r 4500 1,000,000 —
£ | = symbole £ (450) . - G i s lw | F
5 S gc FT B 3,500 o : e L
= 504 SE it - : 800cm Zc N BT
70 == ) < 5100000 O w0 o £30%) 8% =5 100,000 o \\1& ® unts S0 N
z g // i} ; ® 90| 9,000 = 52’500 // b ) N @ 90 0
w3 / — 100% &= [6) 90 | 18,000 = (250) 100% i o B : W @ 90 | 9,000
i 51,000 ~ 267cm? we 0 ] w3 — 400cm &= B N ® | 90 18,000
$23(100) == — |85% %S 10000 ~ 0 118,000 #31,500 = 85% we —\ @ | 0]18,000
&2 500 - ———100% =3 : N ® [180]18,000 5 8 (150) = | - = 1100% B £ 10000 N L )
®RE (5 178cm? < N\ a =70mm EL / = ———— %7’ =3 N 80 18,060
5 (50) 70% N Vg =533 om® "E 500 70% N a =92mm
Tw "y - Ny n_ =1,000 min” me (50) NITNG Vg=800cm’
0 & (11002> ( RS A A 10 5 10 10 U FalERRORTE % 5 1 15 20 25 30 35 1,000 Lo
153) (204) (255) (306) (357) E 1 pressure pl+p2 MPa (kgficm?) Regr;'arding W, F and a, please refer (51) (102) (153) (204) (255) (306) (357) 5 10 40 :e‘;r?j%fizga:ﬁ:fl;ase refer
E # different pressure Ap MPa (kgf/cm?) ta the figures of DIMENTIONS in page 12. E £ different pressure Ap MPa (kgf/cm?) E 71 pressure p1+p2 MPa (kgf/cm?) to the figures of DIMENTIONS in page 12.
. S .
QTHIRKE N LR RIBEL /Idle & - 45 =5 : >
4 & FIR R EML / OEOOSt graph :ﬁﬁif"—? t# /' Shaft creep speed QT HIRKE N &INF KL E /L /Idle & boost-graph @ {Z #4514/ Shaft creep speed
(51) (1.0) 5 0.1 5
< (51) (1.0
£ — o
S 4 008 -84 E < 4
S o - @ L 4 0.08 € -8
2 (o o 2 ® £ &4 Y 2 (40 0 2o g
& 3 0.06 :: 3 1y r 23 EQ 3
s . Lo 5} o g @
0 S 5 3 Pbs(800~267cm?) | 0.06
T 0 17scy © 23 W2 2 (@0 267cm° ¢ /), 0 £5 5 2 pd
o 2 267cm’ Pb5<533:178§m3) 004 85 =G _ ] 400cmA T 8 z_%’ ;’Eg ] //
® ~ ! 2 - s
£2(0) -1 © g — £3 (20) ' T Ao | O i
51[( 3 A - 533cm® S 0 =2 - / 800cm® | (0) wg 0 —
. -
= 20| — 1 o % ° S aom  asy o = e T 0.02 ¢ 0 5 10 15 20 25
£ 102 153 204 = ) E
M3 4 HIZES pb MPa (kghicm?) ) (259) ?ﬁ%” (10) e (0 WE (51) (102) (153)  (204)  (255)
0 —= 0.0 braking pressure = 0.0 #IZHEH pb MPa (kgflcm?)
0 200 400 600 800 % 200 400 600 800 1,000 braking pressure

# B flow (L/min) 7 & flow (L/min)

16



17

®i77 55— "REGULATORS

& 55424l /Pilot Control

M3B Series

50 e Bt R E _ (iE1) MIBEARET BB AR ASBIEOR S EMAIE S TINME.
code control type control curve RE R function & features 18, E2Mpalsl TS A A2 N AR FE .
B A i 5. HUEEHEEYIRR AL BN E X AR E (B TE)
M H VIHFEHY N N & —
2 . . . . ' . (iF2) MIBEZXESRFIEAIEH LS RES.
(E=H ) Vo 1 oL =) £ Lo e Two prior set displacements are shifted negatively by varying pilot R St . . P
two position negative BRESES BREHTHRTEIRER2RAE. pressure. Hydraulic pressure from 2.5 to 5.0 MPa shall be provided as pilot 1‘&651\10.2-451?#5E‘]?ﬁ%ﬂ*fﬁ%ﬁ?ﬁﬁﬂHHEEEE,%[:H@J:JEUEHE,
p g Vg,2 55} =5 HIGFE TR i1
displacement shifts B I FEHEN2.5~5.0MPalIERIES. pressure. ATERHREESZRENRITER.
(pressure control type) 1.8 MPa (7E3) EAEhEHIThaert B R AT ESEFRNNHEERS .
I B HEBR I B Sz HIThRE R ST T S SR I ThEE.
(B34 ) Vg, 1 B ES T2 R Two prior set displacements are shifted negatively by varying voltage. (i£4) fFNo.b,cHIE ZhiZHl, IEIFASBREOMN S EMENi#H1TEh
@ two position negative v ﬂa{i?:)\z 5.5 0’\;‘ PalsE 2 E ° Hydraulic pressure from 2.5 to 5.0 MPa shall be provided as pilot pressure. 1£.
displacement shifts 9.2 7= HEN2.5~5. apyITFlE71. {EAEEIIREtE B A BEOMEE | p1-p2 | HE(RRLEITE)
(elctorical control type) HERIATI 8.
) . . ) A F FHEMIETLUAR.
s - Sy “ 5 = = Displacement is determined between two prior set volumes in inverse
2 E 8] i HEE R Vo, 1 SN R A L) 88 A AZRIE R B IR R 2R AFE Z ERTHEE. proportion to electric current. Hydraulic pressure from 4.0 to 5.0 MPa shall
@ two position negative Voo FHN4.0~5.0MPafIEEES. be provided as pilot pressure.
: 9, e itions:
displacement control KRR ©356mA (1.2 MPa), Vg,1 (100%) @ 644mA (3.5 MPa), Vg,2 (33%) %%g%?\:i??t;&ng:)'or\z 1(100%) @ 644mA (3.5 MPa), Vg2 (33%) (Note1) The regulator in M3B motor operates choosing the higher
) 2 ) 2 pressure port between A and B port. If the servo pressure
E 325 | g& el P Y L Y =2 [aaHES Displacement is determined among three prior set volumes in inverse does not hold more than 2 MPa, servo pressure must be
3 E i B s] Vg1 :ﬁﬂ%lmﬁkﬁtt@],ﬁb Bﬁ?I%J{E'E‘tﬂﬁﬁﬁlﬁmm3ﬂﬁk%z{ﬁ]HI]ﬁFE° proportion to electric current. Hydraulic pressure from 4.0 to 5.0 MPa shall provided.
@ three pasition negative Ve x FEHEN4.0~-5.0MPalIERIES. be provided as pilot pressure. If you need to shorten the time of shifting displacement,
displacement control Vg, FAEE: ©319mA (0_9 MPa), Vg,1 (100%) ® 393mA (1 5 MPa), Vg,X (50%) Standard set conditions: 5 . proper servo pressure must be provided. (Refer to below f|g.)
9.2 3 . @ o @ 319mA (0.9 MPa), Vg,1 (100%) @ 393mA (1.5 MPa), Vg,x (50%) (Note2) Pil | ion in M3B Is bil
581mA (3.0 MPa), Vg,x (50%) @ 626mA (3.4 MPa), Vg,2 (33%) ®581mA (3.0 MPa), Vgx (50%) @ 626mA (3.4 MPa), Vg2 (33%) ote2). Pilot ﬁgg;ft?vesl)fc"on in M3B motor controls pilot second pres-
ZE%IE?*EH,‘JW& . Negative displacement control of Code No.2-4 may be con-
@ gEE*I%IJt) i Ui BEREES, AEEFRTEZERN2EHE. Two prior set displacements are shifted positively by varying voltage. gjuctedl by pdrOVIdlng pc'JIOt s.ect?.nd prelssure d'r?C“V.éV'thOUt “S(;
dvivsopIF;%Selr:?:n?gﬁliflt\ée Vg,2 N\ 2.5~5.0MPallJsE B E 7. Hydraulic pressure from 2.5 to 5.0 MPa shall be provided as pilot pressure. g‘r%p%‘?t?g':a'l vglp\)/eerate switching valve or solenoid operate
(elctorical control type) (Note3) Small displacen;ent instruction must be provided on the pilot
. q ; q ; f trol side before using automatic control operation. Auto-
N - 2t ok ) == ML b o 4] = Al =] Displacement is determined between two prior set volumes in proportion cont ; h ;
2 B EHE RIS Vo ifﬁ)\%uuﬁkE|:|31§|J,EbﬁﬁE?:%U{f,ﬁl‘tﬂﬁﬁflﬁmﬁ']L&ﬁFEZlﬂjH’]ﬁl’-go fo electric current, Hydraulic pressure from 4.0 to 5.0 MPa shall be matic control operation precedes pilot control operation.
@ ijo IpOSItlon posmveI EHN4.0~5.0MPafyEEE A, provided as pilot pressure. (Note4) The automatic controller of Code No. b and ¢ operates
isplacement contro Vg2 AL o o Standard set conditions: choosing the higher pressure port between A and B port.
REIRE: ©100mA (3.5 MPa), Vg.2(33%) @509mA (1.2 MPa), Vg,1(100%) @ 100mA (3.5 MPa), Vg,2(33%) @ 509mA (1.2 MPa), Vg,1 (100%) The regulator operated by the differential pressure |p1-p2l is
St NE 7K EEL I, 6 B E i S E S P RS EHI3RHIE 2 BIHIS Displacement is determined among three prior set volumes in proportion also available as optional function and if necessity arises,
5 i | 73 £ = AHES
2B IFHEE TS Vg1 m{ii4 (;1"‘5 o ;}‘J’;“EFEHLE; BRI E R 3R AR L 18] = to electric current. Hydraulic pressure from 4.0 to 5.0 MPa shall be please contact us.
e o o v /N 4.0~ 9. afJyic~rIxtJ]. provided as pilot pressure.
three position positive Vg x m o S itions:
h e o tandard set conditions:
displacement control Vg,2 FREIRTE: @ 156mA (3.4 MPa), Vg,2 (33%) @ 244mA (3.0 MPa), Vgx (50%) D 156mA (3.4 MPa), Vg2(33%) @ 244mA (3.0 MPa), Vgx (50%)
| @ 469mA (1.5 MPa), Vgx(50%) @ 539mA (0.9 MPa), Vg,1 (100%) ® 469mA (1.5 MPa), Vgx (50%) @ 539mA (0.9 MPa), Vg,1 (100%)
@ 5 Fiz4%] / Automatic Control
- : @ [E &Lt iE) Tilting time, pressure related
: 3 il ) : . ’
s iz 25 22 B THEE R 4K function & features 5 3
code control type control curve
A B ez Th e Sal N\ M3B200 ] B R EE
@ without automatic control % S\ Ve:116>195¢cm? %2 oA V100505
3 L N
Vg.2 ZENEEE (6 R 2 £ 2 K Bk BT R RO R AR B B BT During small displacement operation, when the load increases and the — _ ¢ ‘ iy | /M3B800 |
IR 2 21 P21 -->g 4 ?jt:}: = ! J*'___' == =2 RE 2 e =. pressure reaches to a certain point, the motor shifts into large displacement %'32 = 'M33260 N E; N~
T : o = : : Aar=f ; h & ; | = B
NJa. : c . £ i L
@ B THEIMEENAILLFEEFKHE operation. Since then the motor maintains the large displacement operation £ 3 G | =
sequence control Va1 s ntil the pressure declines to a certain point. g2 | VorlessMmbemt o=l o ‘
p12L/ RiE — 25 MP —43MP u e pressure declines to a certain po U A O O A M3B5307
- 1 RELE | P2-1 = a, pi-2=4. a Standard set conditions: P2-1 = 25 MPa, p1-2 = 4.3 MPa ] CUESST T I M3B280 |
. . . = 0 : A O O O U O O
eIl AN XM EE S5 BT T HEESRK. Displacement varies in order to maintain the pressure in line with the load. 0 (5) (10) (5) (10)
>y 4l Vax = Y = e Y = The motor maintains small displacement operation until the pressure increa- 51 102 51 102
@ ggztsrtglnt horsepower Pe-i Voo Vg, 1 ngETEﬁj‘;’é\ﬁf MEEEHMWAKHEE. ses to a certain point, and then shifting into a large displacement operation. [E 71 pressure P MPa (kgf/cm?) JE 71 pressure P MPa (kgflcm?)
' T VEIZIE P21 = a Standard set conditions: pP2-1 = 25 MPa
R R 460 () ) A4 B Rif b 1511380 ) A N g
Solenoid operated switching valve specifications Solenoid operated proportional valve specifications ‘ MSBQOOFHﬂ%]-.ﬁﬁ%/MSB2OO RegU|at0rS ‘ M38280; 530, 800%@%%/“"38280, 530; 800 ReQUIatorS
EEEREN 13.7MPa T 2R AXAG No.
G pressure 13.7MPa ESEHEHD ( R EEf5IH 3.9MPa) ]cj?)gjifg e 1a 1b 1a 2b 2c 3c 4c
= max. pressure (3.9MPa in case
gtﬁj%(,)j—:l‘tage DC24V of inverse proportion)
= FE —
ﬁﬁ,’ﬁ’ﬁ;ﬁ,’ﬁng =<17W (24V, 20C) rated ellectric current| 700mMA DR ‘
electric power EEENED 3% & A ]
IR RS =% % Z02M-GY(2P)  recommended 80Hz/200mAp.p circuit o1 |
standard connector | Mitsubishi Cable Co., _dither power diagram Eis sl [ —
— LB ; ] -
* E B/ connector shape coil resistance value 17.5Q(20C) }
_ R ZEBE 2000-0Y () i |
4'—|—(—L[:LJ standard connector | Mitsubishi Cable Co., A B

(=) SLEE

cable color blue

() MSLIE
cable color red

18



M3B Series

® i H A& MIEHIE VARIOUS VALVES to CONTROL MOTORS éé‘ziﬁﬁ“ﬁ"}iﬁﬂ/Counter balance valve for winch

BEV3X.M3BRI DEZEEAIMNEEREADIEAEELR=8 M Various control valves, attachable direct to flanges of 2x4-M10xP1.5
Y R ] e ) M3X/M3B series, are available. €& KDC28MR
(iF) FBRYE Dk 5124 R 2 & B 15 R . (Note) Some combinations of motors and valves need conversion plates. JEFHE'IZ :M3X/B 200
Applicable to M3X/B 200
Ny 86
e | 3 . {& #1& / Valve specifications
[E13542 %11,/ Swing control valve uduldila = o
B[S £
KSC 211 } 211 ol 34.3MPa (350kgf/cm?) yf_
R b : e HT
#KSC19 b0 350 Limin ) J@%
q:'\.LEEHEt@%*ﬁ“"ﬂ“ | ‘. Q i 15 7 JE 77 (30L/minf) 14.7~30.9MPa ] | %
Swing control valve of neutral free type. AN + AN T set pressure of relief valve (at 30l/min)|  (150~315kgf/cm?) st | Ha M10xP15
O~ ] - Q| .
B4 /Val ificati 5 ESHBESN & i
J1#% / Valve specifications N~ @@ﬁl T AlPat T e sure of $pool 0.7MPa (7kgtlom?) St T SN2
BEEAESN 30.9MPa (315kgf/cm?) : ; ﬁ i) ] BEEFEESN BM %;-3
DS [HEREUIE = . o cracking pressure of check valve | 0-7MPa (7kgf/cm?)
FRfE i 200 L/min 0 8 hydﬂﬁ%ﬁnbol =
rated flow 75 ]
ST ) - 112
F i Wiz EE NTEE 14.7~30.9MPa #KDC30MR
set pressure range of main reliefvalvel  (150~315kgf/cm?) 1& A 5k :M3X/B 280, 530, 800 813’/21 oY AMI2X 175
REHESE | 5MPa (15Kaf/om? P Pa Applicable to M3X/B 200, 530, 800 :
allowable back pressure : a (15kgf/cm?) P T B /Val ificati
alve specifications
; EBEEH 0.29~2.51MPa N TR — P
pilot pressure (83~25.6kgf/cm?) - A 41N ?g_%ig?g 34.3MPa (350kgf/cm?)
Pa,PB,Pia,Pi8,PP:G1/4 _ SARE .
P,Pa,R:G3/4 Pa.Pe max.flow 500 L/min .
ji it 1R XE E 7] (30L/minkY) 5| ®
s éel pl:'essure of relief valve (at 30I/min) 34.3MPa (350kgf/cm?) T
@ KSC19L
EEFBEN e
AT ke 37 B RS B A . cracking pressure of spool | O-7MPa (7kgi/em?) S o
Swing control valve able to switch neutral HEEIEES ®
free and lock. dracking pressure of check valve |  0-03MPa (0.3kgt/em?) - BM S
N e s P Pp  Pa
40
{8 #1& / Valve specifications o — STy _ o ARl /A type
== Al g T @7 6 )
ﬁg.{srﬁe!;}sffjrje:l 30.9MPa (315kgf/cm?) Pib gpal o1 Nl p Pia 295
| D in g
. p al,bi 70 164
e 200 L/min S \ V. BM| AM G3/8 2x4-M12x175 | 2 80
F iR RIEEEDEE 14.7~30.9MPa ’ r=- I
set pressure range of main reliefvalvel  (150~315kgf/cm?) b1 X—4 d
D
BIFHES E ; ! a 7 #
aIIowIabIe bﬁack pressure 1.5MPa (15kgf/cm?) 191 191 E]/\A % é? ﬁ
BAEEES () 05~16MPa _ B ‘ A S
spool spring force (free) (150~315kgf/cm?) RERS ‘ at hE $ $ a éo,L
TBRTEAE S (B1E) 0.5~2.4MPa o o ‘ - - - - e
spool spring force (lock) (5~16kgf/cm?) N T B A 2 LAk —
ECHRETHREEE 7 2.5~4.9MPa Pei @)1 P BEHS K2 VIS SN =
switch operation pressure of port relief (25~50kgf/cm?) hydraulic symbol s ;.,@ a N /@ NS ‘—,’/ = g
B B U420 (Pio) 71| (Pio)max.+ Pio — (D) R Pia Y T Gy/8 — v
pressure for free mode switch port (Pio)|  2.9MPa (30kgf/cm?2) Bl ~ ﬁp_jc kE—;S) \EEJ
5 A R Eg» Ll o AXE/AX type
b—{ EAMMAERERR
T =
R . Tl —— € KDC40MR Reverse connection type of A type at
FiL R 8 &8 4% / Solenoid valve specifications *ﬁ}w fo s = {) & Sk IM3X/B 530, 800 361 a1/
o & | =—f Applicable to M3X/B 530, 800
AT 8.3MPa (85kgf/em? = I, A o / 2
max. pressure : gfiome) BM AM . L 125 oz 100 I51
mon P _ ! / 1% #11& / Valve specifications 365 ‘
iR 36ce/min AT 8M12 ¢35 $35 p——
leakage (at 28cst, 2.9MPa (30kgf/cm?) 496 fﬁﬁ%ﬂg}ﬂ 34.3MPa (350kgf/cm?)
R LR B BE R I ™
solenoid rated voltage DC24v ‘ ‘ f‘;ﬁﬁfb% 780L/min |
BEREEFTER o — _
voltage vaﬁation range 20.4~29V i 17 %jciff‘{,; 300L/min |
: : max. flow of relief valve o
SR ERHE with ant e, EREEEEA (04~ 06Lminf) g®
HEE with anti surge i i1 E & 77 (0.4 ~ 0.6L/mink SO
g | ! éet ;;?essusrle of relief valve (at 0.4~0.6L/min) 27.5MPa (280kgt/cm?) W -
- Q i
Pa,PB,PA',PB',Pa’, Pb', Pia,Pib, Pio,PP: G 1/4 o ' - o ’ B == KEFRBEH o |AM| | __[la
P Pa.R:G3/4 @ a © . S /?A/@ig ‘gﬁJ/A R cracking pressure of spool 0.69MPa (7kgf/cm?) T\ L b1
PR B N hd : ko= F--- o
3 ———| (8L 8| [ B 1) ) FF/S E 71 0.03MPa (0.3kgf/cm?) Iy ~
) AT cracking pressure of check valve 3 7
P" Ps| &/ [Pa
10
b1
75 22 129.4 ! M16XxP2.0 Gi/4

20



21

1TER EI®,/ Counter balance valve for driving

B
P BB B S L B R BT AR S T, S50,
PRI 5 ZOARRR T3k £ B3,

Built-in shock-less relief valve enables
smooth deceleration. This valve also auto-
matically releases negative break in motor.

®B25C
& Al 5% :M3X/B 530, 800
Applicable to M3X/B 530, 800

{& #11& / Valve specifications

A i & 240 L/min

rated flow

BATE .

max.uflllbﬁ 350 L/min

EaEREN

max. pressure 30.9MPa (315kgf/cm?)

it 18 1% 2 JE 71 —

se IyISressure of relief valve Ps=30.9MPa (315kgf/cm?)
FREEA

B EY%R EH cracking:0.91MPa (9.3kgf/cm?)

spool shifting pressure SEH

reseat:0.78MPa (8.0kgf/cm?)

€4B35C
& 5% :M3X/B 530, 800
Applicable to M3X/B 530, 800

{& #14& / Valve specifications

RERE 380 L/min

rated flow

RRiE i

max. flow 500 L/min

saEREN

max. pressure 34.3MPa (350kgf/cm?)

it iR 1% 7 FE 71 _

set pressure of relief valve | 75=36-3MPa (370kgf/em?)
FRESN

BRI E N cracking:0.78MPa (8.0kgf/cm?)

spool shifting pressure S/REN

reseat:0.69MPa (7.0kgf/cm?)

A1J,<—”

AM BM

o
e P

hydraulic symbol

123.5

¢15

oo

[(e]
(o)}
g - 7 :\\Q\ “:# 3
3 HEE ” SIS
N - &
s i FAM,BM
3

2-440 415

AM P _BM

==

==
oo

=

p
{
|
]
r
’ X
\ 1
s

2x4-M12

41.5

67
74

37.5

Al
G1/8

r]—':ﬁ A

N (&M

INA)
|
%@*‘J

|
oo ==
Al B1

2x4-M12
400
: 31.8%%2 /
= inY Va) Y L o oD G
3 AV zl,brl A\ W & 8
K BV

m, |
66.8+0-2

£% any Y Y oD
tﬂ% Av>) A4 \ W A o
[}
T 295 - L

H : [an) D) . H

u 1 v L& ! H
1 H [ o
(Vo]

A1
9/16-18 UNF

102

407

B1
9/16-18 UNF

BA [a] ] i@ B/ Check valve block
VB

AR LS hTEA.
This valve prevents cavitation.

®VBS-199
1% #148& / Valve specifications

=R ERESN

2
max. pressure 34.3MPa (350kgf/cm?)

RKE

780 L/min
max. flow

BEEFEEN

2
cracking pressure of check valve Bl (O s e

BERS
hydraulic symbol

179

A B,A1,B1,C:G1

M3B Series

A1,B1

$40

22



23

HRIRV R EEDIA

Axial Piston Motor with Reduction Gear

M3X/M3B-RG series

@® 1714% SPECIFICATIONS

M3X280-RG06S6.4 | M3X530-RG10S5.7 | M3X800-RG16S6.4
= & //model M3X200-RG03S5.7 ") 135280-RG06S6.4 | M3B530-RG10S5.7 | M3B800-RG 1656.4
He & /displacement cm3 149 252 533 800
B E JE 71/ rated pressure  MPa (kgf/cm?) 21.9 (223) 20.6 (210) 20.6 (210) 19.6 (199)
B = ¥ 3% /max. speed min—1 270 190 150 130
B X & &/ maxflow L/min 230 310 450 670
I HH 3546 theoretical output torque N-m 2,930 5,280 9,870 16,000
Lk gear ratio 5.65 6.40 5.65 6.4
% % #H B/ total displacement cm3 840 1,610 3,010 5,120
HiFREH % allowable radial force L 58,800 88,300 118,000 157,000
it #; {L & load point mm 89 95 113 126
B &/ mass kg 98 150 243 420

WEHEE S - SR EEREREYARERE. EEREVRE
R-F80CHERMER.

B % DiRE ST M BB SR A&, fT LB H R RAE
EEN s&BETUER. FRERFHS KR BHKR.

B ERHEREEAHEW, FRETIAXNES.

B 2 XTX103N T . HEitHEEsE Nem
. mXZXcosa m-# mm
ZE ¥
o EhfA deg.

BRAFTHETREEAE, BRRE=20 3 HGEF 0 aE
BRE.

@® 7% %45, BEARING LIFE

B AEFTRAEESOmIn T, AFIEASQ (ERAREEHR)
FEIEE.

10,000

B Max. pressure and Max. speed are determined by RG
specification. Please make sure the temperature of the RG
shall not rise beyond 80 C.

M If the motor is used for the short operating periods such as
used as winch motor and so on, the operating conditions
may be beyond the rate pressure or max. speed men-
tioned above.

In this case please inform us of the specific operating con-
ditions.

M The theoretical radial force W acting on the driving shaft is
calculated by the following formula.

2 X T X1038N T * theoretical output torque N-m

W = m: module mm
M X Z XCOSQ 7 : umberof teeth

O - standard pressure angle of cutter deg.

M Allowable theoretical force shown in the table depends on
the distance of load center from mount flange.

M The life obtained in this graph is for the speed of 50 min-!
and the load point of 0 (spline center)

8,000 |---

6,000

e
o
o
o

3,000

WRES Lo (/B
bearing life L10 (hr)

IS

o

8

1,000

0 4.9%10*
®5)

9.8x10*

14.7x10* 19.6x10*
(10) (15) (20)

MENFEH EREETAE N (ton)
radial force acting on the driving shaft

(1) HFan SEEM R LA
(iF2) 0 IBUEIE KR, HFarRIRER.
HiEBEEM
(1) SR EREEREATEL.
EE A B E .
(iF2) 5%iHiEE AR Y TAPHE AN 2£MGL-35GL-47= &

(Note 1) The bearing life is in inverse proportion to the speed.
(Note 2) If is larger, the bearing life becomes shorter.

Other caution

(Note 1) The life of the gears is influenced by the operating pressure.
Please consult us, if necessary.

(Note 2) Use gear oil equivalent to GL-3 or GL-4 of API classification.

M3X/M3B-RG Series

® R~ DIMENSIONS
A port B port
$R
[M3X3x¢e3i¢3%3% -RG] 9y -
A B1 I B2 mm\\f |
view =
- ole o L \s
C - >
- »|ole E
-—G
J E T
- SRl
i T ,,%L i
T A =R
' 3
T 773
Rl 1 j Y
B
B8 |
il " '
| el S
- parking brake
HIEEHIEER
[M3B %3%3%:3%3% -RG] y fit with parking brake
A B1 ) B2
- > —
<C T E =
-G 3 e}
A ] q |
-F B ) IE 5 oo
[ I 1 ?lQ ‘73’_ Fhl Ts z i :'_:l':__
r 5 T i ©
E] [ 3— i ! )
; - L N > -
i —
. 2 15 Li)D i | © | 3¢®
A - @1 | j —= an y H ] _
TP t3> E,,zg ©) ®)
e == A\ 2
Iy | IS E:f ol @ (5)
— '
R i . 34
HilyT
| | e BEHIZE
— parking brake
AEEEH o
no parking brake
(mm)
R ~F/size A B1 B2 © D E F G H | J K L M N
M3X200AP-RG03S5.7| 119 | 443 | — 85 | 405 | 13 60 22 | 360 | 26017 | 268 | 122 103 — | 320
M3X280:xP-RG06S6.4 501 569 463 —
M3B280%P-RG06S6.4| 120 | 249 | 616 95 | o7 | 14 70 25 | 394 | 32017 | 318 | 130 17 | o5 | 360
M3X530:%P-RG10S5.7 550 | 550 513 —
M3B530P-RG1085.7] 15% | 623 | 720 | 11 | ag | 15 81 30 | 480 | 330f7 | 415 | 165 154 | Soq | 450
M3X800AP-RG16S6.4 586
M3X800BP-RG16S6.4 | 164 | 623 | 739 | 108 | o0 | 20 75 | 179 | 460 | 38017 | 460 | 178 169 — | 424
M3B800AP-RG16S6.4 618
M3B800BP-RG1656.4| 201 | 655 | 771 | 141 | cop | 15 | 114 32 | 570 | 39017 | 464 | 178 169 | 332 | 520
R~ /size 0 P Q R S T
M3X200AP-RG03S5.7| 6—422(6X60°) | 75 | 25 | 72 | 2x4—M12x175 "(‘jgfj o 12)0
M3X280:xP-RG06S6.4 _ . _ m=2.5, z=20
M3B280%P-RG06SE.4| 10~ $22(10X36°) 75 25 | 72 2X4—M12X1.75 (J1S D2001)
M3X530:%P-RG10S5.7 _ . _ m=3.75, z=26
M3B530%P-RG1085.7| 12-418(12Xx30°) 75 30 | 72 2x4—M12X1.75 (JI1S D2001)
M3X800AP-RG16S6.4 _ . 75 30 72 2X4—M12%x1.75 m=3.75, z=29
M3X800BP-RG16S6.4 | 16~ #20(16X225%) | 105 | 35 | 92 | 2xa—Mi6x2 (JIS D2001)
M3B800AP-RG16S6.4 _ . 75 30 | 72 2X4—M12X175 | DP=6/12, z=26
M3B800BP-RG16S6.4| = #22(12X307) | 405 | 35 | 92 | 2xa—Mi6x2 (SAE)

M3 R T DR E=R A I 542 55 Ef@ KDC30MR,

#1301 B25CE HiRiE .

Counter balance valve KDS30MR or brake valve B25C is
directly attachable to M3 series motors.

24



25

MEINHOAEEDIA

Swash-Plate Type Axial Piston Motor

K3X Series

@® i3 FEATURES

1. SRR FE i

EEN N

EATRNW —RIT LAV BIERRES

W ST RIKIVIR RS, SR T I REIH E S AT E 4.

2. EENEEIT
ERREREEANY. BR 2R ERBAES.

3. e _ERTAE A

&6 0 TR LK

AR MO R .

IRgE]

@®Z'E4xi2 ORDERING CODE

K3X#7l

K3X series

HEE MK size
63 : 64cm?®
80 : 82cm?®

% H AR . A4k power code, shaft code

90: 89cm?®
112 1 111em®

0 : #R#EsH, $8%h /standard type, key

1 ARERTH, #FF 4 T %0/ standard type, involute spline
5 : B EME, #Hh/high power type, key
6

IR, TR Lk 1E %/ high power type, involute spline

@® R~} /DIMENSIONS

5 / standard

K3XF G, S1EA TR — R = IHNMARER

B KER

SZHIKSVRIIBAR—E, BERF R~ U HARH RS Dk,

The K3X series are newly developed motors for industrial

machinery.

The design is based on technology and experience of
current K3V series for construction machinery or indus-
trial machinery.

1. High Efficiency and Reliability

K3X series has high efficiency and high reliability by using
common rotary parts of K3V Series pumps which are used
widely for construction machines and have many years of

experience.

2. Allowable to Apply The Radial Force

The motor shaft can withstand radial loads. But in this case,
bearing life decrease.

3. Allowable to Use on Upward Motor Shaft Position

The motor has the drain port to be installed with shaft

vertical.

K3X] (112] S-(1)[0/[0 M- D1

A

oil temp. code =g

iZ S HiEEE & i
marks | oil temperature range remarks

v2 |-20c=g=00C |SEEHHRRRER

V1 |-20C=6=90T | ?e?ﬁ?‘imﬁ-ﬁgger
Diank | 20C=6=90C

D1 |-30C=6=90C

D2 |-45C=6=80C

ELmERBINEE AR (AROSE NEE)
valve cover code and direction of rotation
(A port :high press., view from shaft end)

0 : FREZRE, IFBTE 75 [m HE / split flange and clockwise rotation 47 /standard
1B EZ A, IRt $ 5 1858 /thread flange and clockwise rotation

2 TR EZE, B4t EKER/ split flange and anti-clockwise rotation
3By k=R, BitEt 5 E MR/ thread flange and anti-clockwise rotation

K3X Series
@ 311% SPECIFICATIONS

5 2 /model tREHE standard type = iE 4 high speed type
K3X63 K3X80 K3X90 | K3X112 K3X63 K3X80 K3X90 | K3X112
HE £ displacement Vg cm? 64 82 89 111 64 82 89 111
pressure i E rated 31.4 (320)*! 31.4 (320) *! 31.4(320)*?

MPa (kgf/cm?) E 5 max 34.3 (350) 34.3 (350)
= @ %% I&E/max. speed nmax min~'| 2,400 2,200 3,000 3,000%2
& K & £/ maxflow L /min 154 181 200 244 192 247 268 333
B & % 4%/ ratedtorque N'm 250 411 450 554 250 411 446 554
WM E I E rated power KW 63 95 100 128 79 129 140 174
M 8 M i@ & case volume L 0.3 0.5 0.3 0.5
GD 218 / moment of inertia N-m? 0.3 0.6 0.3 0.6

B’ 2/ mass kg 23 40 23 40

*1 K3X63SHYBIAMERT, FE E 11 24.5MPa ( 250kgficm? ).
For K3X63S with key type shaft, rated pressure is 24.5 MPa (250 kgf/cm?).

*2 DB E$E%3,000min i FIRT, FEE 1K H25.1MPa (255kgficm?), BUEREE 5131.4MPa ( 320kgf/icm?) {& FAR, & &85 i# A 252,400min™,
In case that the motor is used at the max. speed of 3,000min-1, rated pressure is 25.1 MPa (255 kgf/cm?), and at the rated pressure of 31.4 MPa (320 kgf/cm?), max. speed is 2,400min-1.

@58 PERFORMANCE CURVE

il /oil temperature:50C #5 /oil viscosity:32mmz2/s

[K3X112] BR#EASTFHE MARMRIEE /The values given in the below figures are mean ones, and not guaranteed ones.
QL ZE Mechanical efficiency (%) @ FFKZE /Volumetric efficiency
100 T 100 i I —
- p=30MPa o — —
g — ————_| (306kgf/cm?) g //; )—20MPa (204kgtlcm?)
g — $ 9 \ o
°\°§ \\\ p=20MPa (204kgf/cm?) ®® p=10MPa (102kgf/cm?) p=30MPa (306kgf/cm?)
%P'% 80 [ p— 10MPa (102kgtiem) jz;‘?g 80
3 &2
=E e
70 70
0 500 1,000 1500 2,000 2,500 3,000 3,500 0 500 1,000 1500 2,000 2,500 3,000 3,500
#% &% speed min”' % % speed min~'
a @ 2313 E / Starting mechanical efficiency - QEZHENRKHEFIRKILEE L /Idle & boost-graph
£ 600 S 5 .
2, 0 10096 5 61 04¢
= = e 2o
Eg f’gg § (40) pbs 032 2
= 2 (40) 85% - 3 Pid 02 fo
2 300 = 2 (30) Pan =23
s = -’ pid 02
3 (30) = e 2 PG 0.1 835
Ho 200 — 2 (20) —= 2
£ 20 = b & L g
meE 00| £ K5 1 === 0.0 23
@ (10) %‘ o (10) — =3
00 5 10 15 20 25 30 35 S 01 BE
(51) (102) (153) (204) (255) (306) (357) TE 0 100 200 300 400

JE # different pressure Ap MPa (kgf/cm?) b

@ {FiF45M /Shaft creep speed

& flow (L/min)

@126 fa % Fndl A& &/ Radial load and bearing life

a ‘ @ Main flange
[M3X112S] B L SIS T
T N [T ] split type #K thread type  ¢Q
§} 4 147 il L .
J [a) F ‘ e Lot
o« & e T L | N
o L ¢
t ° oo C
E - = =
G (0]
- (mm)
R ~F/size| A B C oD E F G H | J oK L M N (6] P Q
K3X63 1465 | 1145 | 198 |127 |127 | 14 | 555 | 234 | 102 | 91 | 16 | M10| 66 | 23.8 | 50.8 | 66 |SAE3/4"1-1/16™-12UN-2B
K3X80/90/112/ 202.0 | 161.6 | 234 |1524 | 9.0 | 17 | 750 | 276 | 113 | 104 | 20 | M12 | 75 | 27.8 | 572 | 70 |SAE1’1-5/16™-12UN-2B

5 1,000,000 ——= 7=
- -dc) 4 / — N syml?ole K F
| — g 58 [
E? 5 _A Zz
] L oo 100,000 fe ® |9 o
ﬂl]ﬂ!ﬂg 2 - pTR [6) 90 | 5,000
= Kol [©] 90 {10,000
%% 1 — &5 | ® 010,000
0 &g 0,000 ® [180]10,000
0 5 10 15 20 25 #2 Yoo iiiem
(51) (102) (153) (204) (255) 1000 n_=1,000 min’
gurJ ?kilfgjé 2 rnele’a (kgf/cm?) " 0 V. F.alE2TMRTE.
FE 71 pressure p1+p2 MPa (kgicm?) B s e 1025
W& 5 &/ Bearing life @ HIF Fdy / Front bearing life & B/ Rear bearing life
AERFEENO = 1,000min BEI i B &4 (B10%6y) ., 00000 1,000,000 = g
EEEENMITESES BT ERXKSE.
The calculated life(B1o life) shown in the graph gAmO,ooo gA 100,000 KS
is for speed No=1,000min"’ S E S E
Calculation of life for a random speed N is -2 -2 NN
follows. ) \\‘ 2 AN
& S & 3
#® 2 10,000 K3X112 % 2 10000 K3X112
E g g g \:i\
. N\
L= No o (Lo:wNomitss® : g \
N calculated life for No
(7% Note ) 1,000 0 2 1,000 m 0
P1: ABET inlet pressure (51) (102) (408) (51) (102) (408)

p2: HOE A outlet pressure

E #1 pressure P1+P2 MPa (kgf/cm?)

E 5 pressure P1+P2 MPa (kgf/cm?)




27

M 37{£/53E ~OPERATION PRINCIPLE

WARERT. BERETEOZED(a)RNLE(2), TR
ENERBIMEE (4) £ HEMB=EFN. HAXELEH(5)
BRENHBRSHE(7) EEENAMNMEMEETNF2T.
% F2 A MBS AEZE (5) # fR 2 B ET 1k (4), AT {4 tH e 7= A e
N,

FEELR(2) EHASHEMREE (4) BT ERMEOE

H (a) BB EAREEE (5) FHRR EE LIS HE 45 H 46 5155 40 0 i 3

MR H AR 77 )18 R B S B A AR oA e
HILMHAET (N - m) T,

T= T AP HREE MPa
Vg . —EFRERE omd

1 N°m = 0.10197 kgf-m

As shown in the right, the high pressure oil passes through
the inlet port (a) and flows into the cylinder block (2).
Hydraulic force thus acts upon the piston (4), generating an
axial force F. This force F is vector-analyzed through the
shoe (5) into force F1 which is perpendicular to the swash
plate (7), and force F2 which is a vertical force with respect
to the output shaft. The reaction force of force F2 is
transmitted via the piston to the cylinder block, generating a
rotational force which turns the output shaft.

These are 9 equally spaced pistons in the cylinder block.
The pistons connected to the high pressure inlet port
transmit rotational torque sequentially to the output shaft.

Reversing the flow of operating oil causes the output shaft
to rotate in reverse.

The theoretical output torque (T) is obtained by the
following formula.

T : Theoretical output torque N-m
A\ P: Effective pressure difference MPa
Vg : Displacement per revolution cms3

_ApxVg

u 6.28

1 MPa = 10.197 kgf/cm2

B = E & 308 (=2 PARKING BRAKE (Option)

A Eheg A HA K (RVE R F 5 3heh, H N & EE Sis et
BEHRRINS BT E.FEEES DX NEEREER,
EERE | (14) i@t e AN

TEEE R (14) BIEFMRERE F SRS (1) L EEE
EA—REHEHES (1) NMEERE. MABEH (13) EigFH
HRHFASEHBEB)WANERREE—E. BEERF (145053
F(B)EXHEREHREN. FIZNEEZE(L)EZEHRNE
TR SBT3 (3) ¥ FINFEE (10) EmER BER R
(14) 598 R (13) B LEE HERR R TRER T
FISMER. MM OMNE HiREES R AR E AR K E
SIEt EIhEE(10)REAEA FREER (14) 588 H (13) Z[E
T B BE X IR B (E BE TR T HI SRR ER .

This is a negative type, oil-lubricated, multi-disc parking
brake. Friction plates are cooled and lubricated by the drain
oil of the hydraulic motor. The braking operation is as
follows.

The friction plates (14) which are splined to the joint (11)
and the separator plates (13) which are splined to the valve
cover (8) are placed alternately. If not in operation, the brake
piston (10) is pushed leftward by the springs (3) and the
resultant friction force between the friction and the separator
plates restricts the driving shaft to rotate. On the other hand,
a release pressure larger than the spring force is applied to
the oil chamber (15) through the release port, the brake
piston (10) moves rightward and clearance is formed
between the plates. So the brake is released and the driving
shaft can rotate freely.

B M3BZi% 2 E4144 /DISPLACEMENT CHANGING MECHANISM OF M3B SERIES

4 M3B280,530,800
ERENZENA L BATRAEMNERIRNEE B AE

B fHRE R iR X E AN AN, EREFNMEEE T21

EHR R A AR ZE, AR HIR LR =R A H N\ ERE A

HEHITEE.

12 FAEEEE (/) FE(7) EHIREE (K)

small control piston swash plate  |arge control piston
\ moE
mo= chamber
chamber
G 2
\ cylinder block
i

/] EE(

piston

IRzh%H (1)

ol sizE (10)
I AL T praie

The semi cylindrical slide plate, positioned at the both sides
of the swash plate, supports the load, as a swash plate
supporting mechanism. Two control pistons push swash
plate opposite to each other. Displacement is changed by
controlling the oil supply to the chambers to adjust the tilting
angle of the swash plate.

BLiM = (8)

valve cover

s B I
X Eil = IEH
release port low press. oil high press. ol

I (9) ﬁ @
brake casing

T T T T

HIZEEE (15) MO AH
L— il cﬁamber outlet port inlet port

]
(1
|\

brake piston

U0 O\ sl (12)

driving shaft

brake spring

BXihas (1)

B =8 sl B (5)
semicylindrical shoe
side plate

4 M3B200

ERENTENM L ETRAENERRMEEXB A+
Bl BRI mERE T R A 75K

AHELEET I MEHEMN A RANEE BT EEEMRN
ENimEH IR AT SAEE RN, BEHEES N
EFEREAYE DR B EHED LR TEARK.

BiifE(6)

valve plate

joint

~ _EER(14)

friction plate

SBR(13)

separator plate

The semi spherical pivot ball, positioned at the both sides of
the swash plate, supports the load, as a swash plate
supporting mechanism.

The tilting angle of the swash plate diminishes by
supplying the oil to the chamber of a control piston
positioned at the swash plate. On the other hand, when oil is
not supplied to the chamber, swash plate is retreated by the
forces applied to the pistons and by the cylinder spring and
the tilting angle becomes maximum.

= AtEE R B (5) ELfEk (2)
control piston stopper shoe cylinder block
HE(4)
piston
W o= /
chamber
Ef258E (3)
v cylinder spring
=
N
N IRZhEH (1)
driving shaft
Z 7/
pivot ball Eiim#(6)
valve plate
B (7) B (8)
swash plate valve cover

28



B EAiEE=01.CAUTION FOR HANDLING

A

EE

1. TIERFLEESEE

O TIEmiEE R HE EITIER.

Q@ I {EimiEEHE 10~ 1,000mm?/s (cSt). iZE:- 20~ +90
CHIEEIM{E .

O FAREAEE K. K-C — 22K, BRRAERER R EHMAEK TIEH
BAEMBAE, EEAS AL BTG,

TE
2. EiHzEs
OiEHEGZITRNE ﬂmﬁjce HAER B T{ERiERNASY

FUAREHREHTEE. 5. BESHTYENEHE
B EIZE10um E’J:JE:H&%%

BE

3%%

ODEWNREFMBESBTER. BEFERNE, B5AAT
%Umu

@ 5#HIRENMHIE L E 0 ERM T, ROVRR BRI
0.05mmIYAT.

A\

CAUTION
1.0perating fluid and temperature range

@ Please use antiwear hydraulic fluid as operating fluid.

@ The allowable ranges of operating fluid are as follows.
Viscosity:10~1,000mm?2/s(cSt)
Temperature:—20~+80C

® In case of using special fluid (Phosphate ester compounds,
water-glycol fluid, fatly acid ester compounds, etc.) please
consult Kawasaki for instructions prior to use.

A\

CAUTION

2.Filtration

For satisfactory service life of these motors application, the
operating fluid should be controlled cleaner than the cleanliness
level of NAS1638 Class9. Install a 10um filter in the return circuit of
respective actuators.

A

WARNING

3.Mounting

@ Regarding the mounting direction, please refer to the below list.
In case of the "Option" mentioned in the list, please consult
Kawasaki.

® Alignment should be so carried out that the parallel error may be
held within £0.05mm.

® Skttt ifmil EERIHFE
RN E .

4. it RiH R HEE

B

5 E M3X/M3B |M3X/M3B-RG K3X

7k F Lo IRt i3

[T Eik Eik fEik

=t — — IR
®E

FIREEREEDERGATE

@ ittmHAEEEME AL DiEittiREEOR T ER AN EE,
SO RS E 755 F0.2MPa (2kgf/cm?) KA, I (& it
W ARE# it 0.6 MPa (6kgf/cm?) BIKE,

1

Direction of
{Lee"';',‘,’;‘{ M3X/M3B | M3X/M3B-RG K3X
Horizontal Standard Standard Standard
Down ward Option Option Option
Up ward — - Standard

A\

WARNING

4.Drain piping
@ The motor's drain port, as shown in the following figure, should

be so located that the casing can be filled with oil.
@ Use a drain tube bigger in size than the motor's port. Keep the

casing pressure normally below 0.2MPa (2kgf/cm?) and below
0.6MPa (6kgf/cm?) even at the peak.

[l

g

5. HHVERHFHES
BN, WSRO DA ERIAN S, W5
NHEAT DA G RAEERROHSIE, WAL

B, I:Ifll TRE W REE R M ERRI T AR AT RS .
i E B A R AT,

A\

L=,
=

6. 15 &EHZE
BT H B . AL H— R BB, B
RiB%, ERILHE L, B REEEEH R HE.

e
=

7. Hl[E) i &

O Dhik i i EREARZRIZE R T KRS RER
RESHIMERER.
B R EMRE A EARR, BEAR 6.

@ Dhikf i _E 7R RE R S 4 3 7er
»ﬁi.#)lﬁﬂiﬁ‘ﬂ)b?i?éﬂﬁﬁ eI BT
ZEHREHHAFEHXRFTSR 230,

A\

8. | imAJRA 1k

FE 1 HE Dk, AT AKES M, EZEIRN ORI
BEES. SRSHEREHETNRKIEEENRTHEE
RERSHIEE. REFRTH,. EHNBRU EREE
EAlkSIEEE.

A\

iE
9. B EEFHHIER

FEO E@{EEEMIJ, R &l fE2.5MPa (25kgf/cm?2) AT, #8id
2.5MPa(25kgf/cm?) {E FRT, ThaE LS R 4@, E5E
_J%Ulnl)k

A\

WARNING

5.0il filling and air venting

Before operation, be sure to fill the casing with oil through the
drain port . Vent all air out of the motor and hydraulic circuit prior
to operation.

The insufficient amount of oil may cause the lubrication failure,
resulting in the seizure of internal parts. The volume of the oil is
shown in the SPECIFICATIONS as case volume.

A\

WARNING
6.Parking brake

This brake should be used only for parking, are not for dynamic
braking. In case of driving inertial load, measures such as the
adoption of the time delay valve should be taken to prevent the
parking brake from being activated before the inertial mass stops.

A\

WARNING

7.Radial and thrust load

(MBearing life against the radial load applied to the shaft is
shown in the Performance curve for each motor type. If load
point or load direction is different, please consult us.

@ Do not apply thrust load to the shaft of these motors.

(® Radial and thrust load may be applied to the output shaft of
the reduction gears. Please refer to P23 for the relations
between the radial load and the bearing life.

/N

CAUTION
8.Cavitation

When the motor is operating in an overrunning (pumping) mode,
then to prevent the occurrence of cavitation, a positive boost
pressure is required at the suction port. The minimum boost
pressure requirement shown in the model performance data is
based on the regular operation. In case of a rapid change of the
flow volume, more boost pressure must be applied.

/N

CAUTION
9.Back pressure

The lower of the two main motor ports pressures should always
be less than 2.5MPa (25kgf/cm?). Pressure higher than this could
cause a possible reduction in motor performance. In case of any
doubt please consult us.

29

30



31

Big

/PIPING

B &1 R~/ Piping size

B 5 O ittimiEEEO ESEO-NERO%

model main port drain port pilot port, gage port, etc.
M3X200 4% %k special G3/8
M3X280 4% %k special G1/2 G1/4
M3X530 4% %k special G3/4 G1/4
M3X800A 4% %k special G3/4 G1/4
M3X800B ¥ %k special G3/4 G1/4
M3B200 % %k special G1/2 G1/4
M3B280 # % special G1/2 G1/4
M3B530 # %k special G3/4 G1/4
M3B800A 4% %k special G3/4 G1/4
M3B800B 4% %k special G3/4 G1/4
K3X63 SAE 3/4" SAE 1/2" G1/4
K3X80,90,112 SAE1" SAE 1/2" G1/4
KSC19 G3/4
KSC19L G3/4
KDC28MR SAE 3/4" G1/4
KDC30MR SAE 1-1/4" G3/8
KDC40MR SAE 1-1/2" G1/4
B25C SAE1" G1/8
B35C SAE 1-1/4* SAE 3/8"
FV30 SAE 1-1/4" G1/4, G3/4
VBS-199 G1 G1

B EEORAEZ#/Flange for main ports

R EEREEDETEOEAE=4.
These flanges are attachable directly to the main ports of motors.

2

HEEE
@Te
$d2
o | ¢d4
l j
30°
$ds m
| el e
= mE n o
T =L ‘
s 1|
! 1¢d7 ! ;%
¢ds
FERORE=ZA

Flange for main ports

) =2 FATERZRAINERES (1A DER)
= d?l 11 I2 13 14 Is | le | di | do | d3 | d4 | d5 | de | d7 | ds8 m n : ?Iange-:ub Knlquartg ﬁ"stmaﬁ
mode (for one motor)
M3B200 64 | 64 60 | 30 8.8 | 25 62 | 34.0| 35 | 22 |355| 35 |44.5|45.2| 2X4XM10-40 | G30 3703580-1668
mg%lzg g80 74 | 74 60 | 30 95| 25 72 |340| 38 | 22 |38.9| 40 [47.6|48.4| 2X4XM12-45 | G35 3703580-1669
mg%’ggggA 74 | 74 | 70 | 35 |10.3| 30 72 | 42.7| 44 | 30 |445| 45 |54.0|54.8| 2X4XM12-45 | G40 3703580-1670
M3X/B800B | 94 | 94 | 70 | 35 |10.3| 30 92 |42.7| 44 | 30 |445| 45 |54.0|54.8| 2X4XM16-50 | G40 3703580-1671

WO EE

i Bl A 124 B 3k / O-ring type thread connector
BEEpittRimED. £5E0. MERNEERDSERRMPTIESERESL.
These connectors are used to convert the drain ports, pilot ports, attached valves' piping ports, etc. into PT screws.

R T Te |a|blc|d|e|f|g|h [owmopms h

JIS 1/4" G1/4 RC1/4 | 12 | 17 | 29 | 5 | 11 | 19 | 19 | P11 | PSTB1124-6 T

JIS 3/8" G3/8 RC3/8 |12 | 19 | 31 | 8 | 12 | 22 | 22 | P14 | PSTB1124-9 R

JIs 172" G1/2 RC1/2 | 16 | 22 | 38 | 10 | 15 | 27 | 27 | P18 | PSTB1124-12 ™ T2
JIS 3/4" G3/4 RC3/4 | 17 | 25 | 42 | 16 | 17 | 36 | 36 | P24 | PSTB1124-19 &| 3 o
Jis 1 G1 RC1 |21 | 27 | 48 | 22 | 19 | 41 | 41 | P29 | PSTB1124-25 U

SAE 3/8" | 9/16-18UNF | RC3/8 | 9.9 | 19 [28.9| 7.0 | 12 |17.4| 22 |906*"| PSTB 4043-6

SAE 1/2" | 3/4-16UNF | RC1/2 |11.1 | 22 [33.1(10.0| 15 |22.2| 26 |908*"| PSTB4043-8 2 b

SAE 3/4"  |1-1/16-12UN| RC3/4 [15.0 | 25 |40.0|15.5| 17 |31.7 | 35 |912(*)| PSTB 4043-12 =

SAE 1" |1-5/16-12UN| RC1 [15.0 | 27 |42.0|22.0| 19 |38.0| 41 |916"*")| PSTB 4043-16

(*1) SAE AS 586

W 31O SAE iR i EgZE 4R / Manifold for conversion into SAE flange
B Dk pE ORI SAEE =& AR ERR.
These manifolds are used to convert motor main ports into SAE flanges.

FAREZRANTRES

gr%od:aj—l It | 12| 13| la|I5|le [ 17 |ls | lo|l10]|l11| 12| d1|d2|d3 m n o p q|r| s "'”?;S@?ﬁ%ﬁ"“
M3B200 150| 75(100(37.5/27 | 9 | 82 | 14 |41.0(57.2|27.8| 75| 62 | 25 | 35 |2x4XxM10-85 | 1"*V | G1/4| 9/16-18UNF *2|G30| P11|906*3|3724750-0615
mg§f3g80 150| 75(102(37.5/27 | 9 | 82 | 16 |41.0(57.2|27.8| 75| 72 | 25 | 35 |2x4xM12-85 | 1"V | G1/4| 9/16-18UNF *2|G30| P11|906*%|3724750-0616
M3X/B530 W(1) (2) (3)
M3X/B800A |152| 75(102(375/ 27 | 9 | 96 | 17 |485(66.7|31.8| 79| 72 | 28 | 45 |2x4XM12-100 |1-1/4""*)| G1/4| 9/16-18UNF *2)| G40| P11|906"9|3724750-0617
M3X/B800B (202|102 [120(50.0| 27 | 9 | 96 | 21 [48.5(66.7|31.8{102| 92 | 30 | 45 |2X4XM16-100 |1-1/4"*V| G1/4| 9/16-18UNF *2| G40| P11 |906 *¥)| 3724750-0618
(*1) SAE high pressure series flange 6000 psi/metric screw
(*2) SAE 3/8" 1
(**3) SAE AS 586 12
r S
0 P
" |
| g
T

B O ME=# (SAE#TE) /Flange for main ports (SAE standard)

ESAEMIBHEEE =1 . M3RFIDiAFE I ASAERIRHEEEEIR.

¢ds

These flanges are based on SAE standard. SAE conversion manifolds are necessary for M3 series.

E=ER FAREZREINERES (18 5ER)
:ﬂange AR 11 |2 13 | l4 d1 d2 | d3 | d4 | ds | de | d7 m n (o] flange(}(s)lijg r!fePMo%)arr)ts list
3/4" (*1) 20 50 24 | 48 51 30 19 [16.2 |27.2 | 36 74 11 3/4" 4XM10-35 | G25 3703580-1804
Rl 25 55 | 27.8| 54 |57.2| 40 26 |21.2 [34.0| 43 82 11 1" 4XM10-40 | G35 3703580-1805
1-1/4" 1) 30 65 |31.8| 61 |66.7| 45 32 |29.9 |42.7 | 50 96 14 1-1/4" 4XxXM12-45 | G40 3703580-1806
1-1/2" (%1) 35 75 |36.5| 70 |79.4| 50 38 |34.4 (486 | 58 | 115 18 1-1/2" 4XM16-55 | G45 3703580-1807
(*1) SAE high pressure series flange (6000 psi)
12 14
I1 o 13
e N
N (IR
\/
v
- o o | © @ Ll ©
S| B —T1T1— " |°|v|T T - B
< % <% % \ ’ <
A an
= \/

2.41+0.05

4-¢d1 7l

hole

32



KAWASAKI SWASH-PLATE TYPE AXIAL PISTON MOTOR SERIES

No.
SPECIFICATION STUDIES.
Date :
Customer : Machine Model : Installation DWG. No.
Application : Motor Model :
ITEMS UNITS REQUIREMENTS PRODUCT SPECIFICATION [JUDGMENT| REMARKS
Displacement cm3
Reduction Gear — Necessary-Unnecessary
Total Displacement (if Necessary) cm?
Pressure Rated MPa (kgf/cm2)
Max. MPa (kgf/cm2)
Flow Rated L/min
Max. L/min
Actual Output Torque N-m (kgf-m)
Max. Speed min’!
Radial Load and Load Point N (kgf), mm from Flange
Parking Brake — Necessary-Unnecessary
Brake Torque N-m (kgf-m)
Release Pressure Rated MPa (kgf/cm?)
Max. MPa (kgf/cm2)
Required Bearing Life hours
at Vg = cm3, p= MPa, n= min~!, etc.
Hydraulic Fluid ISO Grade, Brand —
Oil Temperature Range °C
Qil Viscosity Range mm2/S (cSt)

ITEM

USE CONDITION, DUTY CYCLE etc. (DESCRIBE in DETAIL)

H Other Requirements

H Optional Valve and Regulator Requirements

[Note]

DATE

QUANTITY

Sample

Mass Production

Sales De

partment

Machinery Engineering Dept

Kawasaki Precision Machinery Ltd.

JIE &R EAEE DX B
1 1) MR
R BHE:
= un .
mo#: EAS =
B &: OrRE .
I B B g M T G MO #E % i
H 2 cms3
IR — E .1 ZE
| SR (BEAENR) ome
E 5 EiE MPa (kgf/cm?)
=] MPa (kgf/cm?)
w2 BE L/min
=X L/min
SRR H ¥R 4B N-m (kgf-m)
= iR min~1
wHERDARMNAE R N (kgf), mm E=E
EERIE — E .- fE
HEhiE N-m (kgf-m)
HNHIRRBREN o oE MPa (kgf/cm?)
B & MPa (kgf/cm?)
FrE sk FEan JIN:o)
at Vg = cm3, p= MPa, n= min~1, Hf
TiEH:ISO%L T —
& RilEER °C
FERIERME mm?2/S (cSt)
I5 B ERAZHFAR AR EM (ERAEIEMITIE)
W R - T SRR ME
B H M EE K
[B=%]
Bt A # =
il
HELEF
R ¥ A
e SR gag [l
kR iTIE N -
FERIRE B & (o] KPM/BELEH [ KPM/#ARE

33

Flow of this specification sheet

CUSTOMER

KPM/SALES DEP.

KPM/MACH.ENG.DEP.

34



	APM_cover_ce
	axial_motor_01-02 [#4DA00F
	axial_motor_03-04 [#4C221A
	axial_motor_05-06 [#4C2234
	axial_motor_07-08 [#4C224E
	axial_motor_09-10 [#4DA028
	axial_motor_11-12 [#4D5E1D
	axial_motor_13-14 [#4C229C
	axial_motor_15-16 [#4D5E40
	axial_motor_17-18 [#4D5E5C
	axial_motor_19_20 [#4D5E75
	axial_motor_21_22 [更新済み]
	axial_motor_23-24 [#4C2325
	axial_motor_25-26 [更新済み]
	axial_motor_27-28 [#4DA056
	axial_motor_29-30 [#4D5EC9
	axial_motor_31-32 [#4C238E
	axial_motor_33-34 [#4C269A

